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[Question ID = 2231][Question Description = TAM_26Nov_51_Shift1_Q1]
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1 [Option ID = 8921]
2 [Option ID = 8922]
3 [Option ID = 8923]
4 [Option ID = 8924]

Correct Answer :-
e 1 [Option ID = 8921]
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[Question ID = 2232][Question Description = TAM_26Mov_S1_Shift1_Q2]
1. 1 [Option ID = 8925]
2. 2 [Option ID = 8926]
3. 3 [Option ID = 8927]
4, 4 [Option ID = 8928]

Correct Answer :-
e 1 [Option ID = 8925]
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[Question ID = 2233][Question Description = TAM_26Nov_S1_Shift1_Q3]
1. 1 [Option ID = 8929]
2. 2 [Option ID = 8930]
3. 3 [Option ID = 8931]
4. 4 [Option ID = 8932]

Carrect Answer :-
& 1 [Option ID = 8929]
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[Question ID = 2234][Question Description = TAM_26Nov_51_Shift1_Q4]
1. 1 [Option ID = 8933]
2. 2 [Option ID = 8934]
3. 3 [Option ID = 8935]
4. 4 [Option ID = 8936]

Carrect Answer :-
& 1 [Option ID = 8933]
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[Question ID = 2235][Question Description = TAM_26Nov_S1_Shift1_Q5]
1. 1 [Option ID = 8937]
2. 2 [Option ID = 8938]
3. 3 [Option ID = 8939
]

4. 4 [Option ID = 8940

Carrect Answer :-

» 1 [Option ID = 8937]
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[Question ID = 2236][Question Description = TAM_26Mov_S1_Shift1_Qé]
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1. 1 [Option ID = 8941]
2. 2 [Option ID = 8942]
3, 3 [Option ID = 8943]
4, 4 [Option ID = 8944]

Correct Answer :-
a 1 [Option ID = 8941]
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[Question ID = 2237][Question Description = TAM_26Nov_51_Shift1_Q7]
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Correct Answer :-

. 1 [Option ID = 8945]
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3 [Option ID = 8947]

. 4 [Option ID = 894

& 1 [Option ID = 8945]
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[Question ID = 2238][Question Description = TAM_26Mov_S1_Shift1_Q&8]
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1 [Option ID = 8949]
. 2 [Option ID = 8950]
. 3 [Option ID = 8951]
4 [Option 1D = 8952]

prepp

Your Personal Exams Guide



www.prepp.in

Correct Answer :-
a 1 [Dption ID = 8949%]
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[Question ID = 2239][Question Description = TAM_26Nov_S1_Shift1_Q9]

1. 1 [Option ID = 8953]
2. 2 [Option ID = 8954
3. 3 [Option ID = 8955]

4. 4 [Option ID = 8956

Correct Answer :-

e 1 [Option ID = 8953]
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[Question ID = 2240][Question Description = TAM_26Nov_51_5Shift1_Q10]
1. 1 [Option ID = 8957]

2. 2 [Option ID = 8958]

3. 3 [Option ID = 8959]

4. 4 [Option ID = 8960]

Correct Answer :-

» 1 [Option ID = 8957]

Topic:- 26Tamil set1_C

Qsmosminiul Qummetdsrysda prens @QuasEEsrsE W (b 2 ) @SS
(1) S (2) @emnbyyeni
{(3) Guigrdlflwiir (4 pElemmirgdletlwi

[Question ID = 2241][Question Description = TAM_26Nov_51_Shift1_Q11]
1. 1 [Option ID = 8961]
2. 2 [Option ID = 8962]
3. 3 [Option ID = 8963]
4. 4 [Option ID = 8964]

Carrect Answer :-
s 1 [Option ID = 8961]

2
/ ap&sTamgasuen) erearm Quui GQubm o ey ergy)?
(1) ellenastiClugponenaTiLir 2 e (2) wemrd@Leul 2 any
(3) SLMIPS BIGUDT 2R @) wvleoprst o ey

[Question ID = 224 2][Question Description = TAM_26Nov_51_5hift1_Q12]
1. 1 [Optien ID = 8965]
2. 2 [Option ID = 8966]
3. 3 [Option ID = 8967]
4. 4 [Option ID = 8968]
Correct Answer :-
e 1 [Option ID = 8965]
3)
fdssa waypenwig sHlfl® QmAQuuTss e enyumrdfhum wmi?

(1) CgeuGrt LimaumanTr (2) Gleudrenaraumyanrir

(3) LIPS BTG 4 o.Geu. emlmrenguii
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[Question ID = 2243][Question Description = TAM_26Nov_51_5Shift1_Q13]
1. 1 [Option ID = 8969]

2. 2 [Option ID = 8570]

3. 3 [Option ID = 8971]

4, 4 [Option ID = 8572]

Carrect Answer ;-

o 1 [Option ID = 8969
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4)
Gadyausgrdl eremmy euprisGumib Blaar{ ergy?
(1) o fFdard Hseir) (2) deunay Bleam(
(3) Gisse Hlaar @ (1) sisgrd e

[Question ID = 2244][Question Description = TAM_26Nov_51_5Shift1_Q14]
1. 1 [Option ID = 8973]
2. 2 [Option ID = 8974]
3. 3 [Option ID = 8975]
4. 4 [Option ID = 8976)

Carrect Answer :-
& 1 [Option ID = 8973]

5
) 8.&. Qedhaiunreund Gsm sistiQuby @S eray?
(1) werfléEGlamg. (2) Gsaépd
(3  ewsm (4) sevewser

[Question ID = 2245][Question Description = TAM_26Nov_51_5Shift1_Q15]
1. 1 [Option ID = 8977)
2. 2 [Option ID = 8978
3. 3 [Option ID = 8979]
4. 4 [Option ID = 8980
Correct Answer :-

e 1 [Option ID = 8977)

6
) Hesreugseuareupmet Qewhes Glomf sidenss org ?
(1) LSS mest (2) Quié (Pearl)
(3  urg 4 sreun

[Question ID = 2246][Question Description = TAM_26Nov_S1_Shift1_Q16]
1. 1 [Option ID = 8981]

2. 2 [Option ID = 8982]

3. 3 [Option ID = 8983]

4, 4 [Option ID = 8984]

Correct Answer ;-

e 1 [Option ID = 8981]

SWIHG wpad auanets Lemet 2 (HEumsSweult wir?

{1) W& HpHionmen (2) sdwnewn &HEID

(3) [Héeueh 4 @araCsreud

[Question ID = 2247][Question Description = TAM_26Nov_51_5Shift1_Q17]
1. 1 [Option ID = 8985]
2. 2 [Option ID = 8986]
3. 3 [Option ID = 8987]
4. 4 [Option ID = 8988
Correct Answer :-
e 1 [Option ID = 8985]

sl udliigg seppufien aperGanmiy wim?

(1) o .Geu. smblprenswit @) &.ea. snGonsyenidarener

(3) &, Godiuicie 4) @uroeisd
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[Question ID = 2248][Question Description = TAM_26Nov_S1_Shift1_Q18]
1. 1 [Option ID = 8989]
2. 2 [Option ID = 8990]
3. 3 [Option ID = 8991]
4, 4 [Option ID = 8992]

Correct Answer :-
a 1 [Option ID = 898%]

9 Qsweusdeerwri

A)  Ggreosmabus daroedlarysSne wiGib 2 ey eropdarn

B  @enbyjenit Cearmeueoyit EAGLInmEEL GHULL e

C)  Amworgseg e flu ue Guuirseild gm QAuuimgean wet

D)  Y9p eeyurfliiursellen smssssaar Wgdunrs vwaru@EHweu

@eupmer sflwrang
(1) A, B,Duw’ b (2) A, B, Cuolib
(3) B, C, D w! (Hub 4 A CDuw @b

[Question ID = 2249][Question Description = TAM_26Nov_51_5Shift1_Q19]
1. 1 [Option ID = 8993]

2. 2 [Option ID = 8994]

3. 3 [Option ID = 8995]

4. 4 [Option ID = 8996]

Caorrect Answer ;-

s 1 [Option ID = 8993]

@) e dopdlu dounfungw

(B) aufleug b @eédl eugeuld @deong Gomg

(C) @otorndulear prasd sdaran_sdleo sEfuusddmea

(D) @beimfls@n Cuyrdfiui Geg.Gfllsd Gassand eropdlujdrarmi

@Eeupmer sflwnang
(1) A B Cuw @G el (2) B,C.Duwlpw &M
3) A B Dw @b sf (4) A, C,D (b &

[Question ID = 2250][Question Description = TAM_26Nov_S1_Shift1_Q20]
1. 1 [Option ID = 8997]
2. 2 [Option ID = 8998]
3. 3 [Option ID = 8999]
4. 4 [Option ID = 9000]

Correct Answer :-
e 1 [Option ID = 8997]

11) &Lmoasfl flaar

(A) @updlueuir ErdCawir

(B) sreb 16b miHoTaTH

(C) 1z Asmgflseens Qenam g
(D)  SNpdsiuneund Senwhs mHIe

@aupmer sflwimang)
(1) A B Cuo @ i (2) B.C.D w @b &0

(3) A.C, D@ &f (4 A.B,Duwc@oaf

[Question ID = 2251][Question Description = TAM_26Nov_51_5Shift1_Q21]
1. 1 [Option ID = 9001]
2. 2 [Optien ID = 9002
3. 3 [Optien ID = 9003]
4. 4 [Option ID = 9004]

Correct Answer :-
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| = 1 [Option ID = 9001]

12)  paefli Glgipadr
Ay Cpndlad

(B) ongir L8l&E
(C) ol g eugenf]

D) GCprsrs wiEsall

Gaupmer #flunrarg

() B,C.Duw @b & (2) A, B.C @ s
3 A B.Doi@po & (49 A.C,Duwc@bd sf

[Question ID = 2252][Question Description = TAM_26Nov_51_Shift1_Q22]
1. 1 [Option ID = 9005]
2. 2 [Option ID = 9006]
3. 3 [Option ID = $007]
4. 4 [Option ID = 9008]

Correct Answer :-
& 1 [Opticn ID = 9005]

sanflefls slpsEl LsrHdlweutedr
(&)  Guinpr. Qslieusksb

(B)  pevenallr 6u.&. JBIEHTSEN
(C) apenasteult Lm.gm. s&uSyoenfluiegr
D)  evareurr @urar QedariLien

@eupmier sfilwunrearg
(1) A, B.Colipo sl (2) A.B.D i@ &
(3 B.C.DwLpw &fl 4 A C,Duwolpbdsf

[Question ID = 2253][Question Description = TAM_26Nov_51_Shift1_Q23]
1. 1 [Option ID = 9009]
2. 2 [Option ID = $010]
3. 3 [Option ID = 9011]
4. 4 [Option ID = 9012]

Carrect Answer :-
& 1 [Option ID = 9009]

U iguidh genenp L iguidd @GiranGLn® Qumimdgs :
galsEnlh, gellind fisEsb

uliguied I L gwed IT
(A) Lisp eddladr M & @5 w
(B) uédlendladr I . g, e
(C) awudQenredsdr I u, v
D) Eer _wickrasT gpellser IV) s. B

&G sruQupnereraudlallmpba efluren eflen s Cgfla) Qeus :

(1)  @-Im), B)-1V), (C)-dI), M)-@)
2  (A)-3D. (B)-M), (O)-AID), D)-TV)
3  A-dID, B)-AV), (C)-(I). (D)-(1I)
@  A)-dm), B)-3D, (O-1V), D)-d)

[Question ID = 2254][Question Description = TAM_26Nov_51_Shift1_Q24]
1. 1 [Option ID = $013]
2. 2 [Option ID = 9014]
3. 3 [Option ID = 9015]
4. 4 [Option ID = 9016]

Carrect Answer :-
& 1 [Option ID = 9013]
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13) Ligue garep uywed BrenCun® Qurmsas :

aunGlenmedlit GuismeaniaEnD 2 an&HeneLIL|SEHLD

L lg ed T g uaed IT
(A) Gumbwerl Lib D ams QgnuwessGaid
(B) ez ws@oombd sllCwrens (II) senedeumamry
(C) v as antlamalser (II) Geu. g
D) o Rusd cunblammed aV) GCan. Qedeuld

&Gy syupmererepdleimpa sflurar alleneowig Gsflay Qsuis

D &-ID, B)-aID. (O)-@), (D)-AV)
(@ @)-. B)-1V), (O-1). (D)-IL)
3  A-O. B-AV). (O)-AD. (D)~
@  A)-av), B)-UID, (C)-(D). (D)-1I)

[Question ID = 2255][Question Description = TAM_26Nov_S1_Shift1_Q25]
1. 1 [Optien ID = 9017]

2. 2 [Option ID = 9018]

3. 3 [Option ID = 9019]

4. 4 [Option ID = 9020]

Correct Answer ;-

e« 1 [Option ID = 5017]

Bidu@sgies

Sisrrdl pkasdlen Ly fleroser
(A) Auwrsyndl

(B) gren_wiEyrdl

(C) Cumerasims

(D) Agrensuig g

(1) ACD,B () A,B,C,D
(3) B.A.C,D 49 B.C.AD

[Question ID = 2256][Question Description = TAM_26Nov_51_5Shift1_Q26]
1. 1 [Option ID = 9021]

2. 2 [Option ID = 9022]

3. 3 [Option ID = 9023]

4. 4 [Option ID = 9024]

Correct Answer ;-

e 1 [Option ID = 9021]

Rréoubsgs :

Qawhensd Gerdraer geulin’ L. oyamn

(A) <’ o

(B) Symdélad]
(C) LITGROGIf T
(D) L1496
1) ABCGCD 2) D.C.AB
3 A C.B.D 4 C.A.D.B

[Question ID = 2257][Question Description = TAM_26Nov_S1_Shift1_Q27]
1. 1 [Optien ID = 9025]
2. 2 [Option ID = 9026]
3. 3 [Option ID = 9027]
4. 4 [Option ID = 9028]
Carrect Answer :-
e« 1 [Option ID = 9025]
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18) o mélsmpmie) : sblh Gorfeawu o @ualud Lglumbcdpg o L LRSses FHMSE Sqanore

(elawien M&Lb.

STTGRTD(SF) sUD e satlblare Cmdlumgd

(1) (2) afl (sm) &f
2) (o) & (&7) gaup)
(8) (=) soum (&) saum
@) (o) geum (&) &l

[Question ID = 2258][Question Description = TAM_26Nov_S1_Shift1_Q28]
1. 1 [Option ID = 9029]
2. 2 [Option ID = 9030]
3. 3 [Option ID = 9031]
4, 4 [Option ID = 9032]

Correct Answer :-
e 1 [Option ID = 9029]

19)
lad Gophs Slgsamer e LWy

1 epsbsras 2)  uyvsrenm
(3  mucpDIn @ sodlee

[Question ID = 2259][Question Description = TAM_26Nov_S1_Shift1_Q29]
1. 1 [Option ID = 9033]
2. 2 [Option ID = 9034]
3. 3 [Option ID = 9035]
4, 4 [Option ID = 9036]

Correct Answer :-
« 1 [Option ID = 5033]

20) Sspranddléd Cuwr Gegflurg Leeauiser Lmgw LML O&E aTEsane ?
1 10 2 56
3 13 @ 3

[Question ID = 2260][Question Description = TAM_26Nov_51_5Shift1_Q30]
1. 1 [Option ID = 9037]
2. 2 [Option ID = 5038)
3, 3 [Option ID = $039]
4, 4 [Option ID = 9040]

Correct Answer :-
a 1 [Option ID = 8037]

21)  Afs@ed vwan@sdyerar Hms@paiicr Agmi

(1) Geuenemen eremimest efl(pbEl(HES 2 e awr g e
(2) seem)ssentGah samGarrm_LLb
(3) Ligdereneu|aT Hevevenal &HHeLh

(4) FNDTRET FTTDTel eremiLise

[Question ID = 2261][Question Description = TAM_26Nov_51_Shift1_Q31]
1. 1 [Option ID = 9041]

2. 2 [Option ID = $042]

3. 3 [Option ID = 9043]

4. 4 [Option ID = 9044]

Correct Answer :-

& 1 [Opticn ID = 9041]
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22)

1
2
(3)
(4)

sullpu Yeoeunns @ebs flw siysen

EGELE o

Her15 6l F et

wnp Slyosssen
WaGOA0 Aumealpd

[Question ID = 2262][Question Description = TAM_26Nov_51_5Shift1_Q32]
1. 1 [Optien ID = 9045]
2. 2 [Optien ID = 9046]
3. 3 [Option ID = 9047]
4. 4 [Option ID = 9048]

Correct Answer -
e 1 [Option ID = 9045]

(A)
(B)
©)
D)

SBQIDUITESETTD Henobs LIn_dsaend Qe reRr_ mied

GO
Ll
pplena
LEDmICILSE)

Geupmier #flwimrangi

ey
(2)
(3)
@

A, B, D w @
A, C.D wr @
B.C.Dw (@G
A B, Culpw

[Question ID = 2263][Question Description = TAM_26Nov_51_Shift1_Q33]
1. 1 [Option ID = 9049]
2. 2 [Option ID = $050]
3. 3 [Option ID = 9051]
4. 4 [Option ID = 9052]

Correct Answer :-
e 1 [Opticn ID = 9049]

24)  garau mrdLSs

(Aa)
(B)
©)
D)

SHEEQUNHLITQUTE &5
Guirrdsendanstl Limg i)

Comp spsailenr Qeaupdlenwts umquig
Cey sipeaflen Camdailenwitl Lmgwg

@leupmen #fluirarg

oy
(3

A B.C 2y B.C,D

A.C,D 4 A.BD

[Question ID = 2264][Question Description = TAM_26Nov_51_Shift1_Q34]
1. 1 [Option ID = 053]
2. 2 [Option ID = 9054]
3. 3 [Optien ID = 9055]
4. 4 [Option ID = 9056]

Correct Answer :-
e 1 [Opticn ID = 9053]
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25)

(&)
(B)
©
D)

UL igaéd I

sleit

2| f & &l pmi

Gurdl Erennmit
Heuanantlé @HwsHwim

LI g 116D eemepprt LT iquidd @irerGLr® Qumipssis

D
{In
(IIL)
aw

L g uwieh 1T

TN

uarritl
aflEmed auereu et

lr_laa:;irr«;:fn@'f

&Gy syLtuppararaddlelmhes sflwren eileremwg Gsiley Claws :

(1)
(2)
3
4

(A)-D. (B)-(I1D), (C)-ID). D)-AV)
(A)-AD. (B)-(D, (C)-AV). (D)-(IID)
(A)-dID, (B)-(IV), (O)-AD, M)-D
(A)-a@v), (B)-dID, (O)-O. (D)-1ID

[Question ID = 2265][Question Description = TAM_26Nov_51_Shift1_Q35]
1. 1 [Option ID = 9057]
2. 2 [Option ID = 9058
3. 3 [Option ID = 9059]

4. 4 [Option ID = 9060

Correct Answer :-

& 1 [Option ID = 9057]

26)  Hroubsss :

LAhmiugSen @ rammb usg

(A Carersenand Gilsgl urLGLOHDS

B @uuambuer GEBECsT@TS eran Ldsid @il ndGn
(C)  Gumt aiBgrenens Quyerg erem upenaflencoiiBiggbd

(D)  @Ew EFsesmemranTyred LT LEUDDS

@leupmier sflwurarg erg)?

() A.BCD (22 B.C.AD
(3) D.ABC (49 B.D,AC

[Question ID = 2266][Question Description = TAM_26Nov_51_5Shift1_Q236]

N N PR o Y

1 [Option ID = 9061]
2 [Option ID = 9062]
3 [Option ID = 9063]
4 [Option ID = 9064]

Correct Answer :-
e 1 [Option ID = 9061]

o mflambn (2) : @NGHS Seans argaflar wpsd shdiiyy @uibess Lemitdsl uEib.

ETeRTLD (&)

Eoudgueir

0y
@
(3
@

() &l (sm) &l
(2) &l (&T) saum
(o) Zaim (M) seun
(2) geum (Hm) &l

: Ap devemrseiie GQuibens) Lenrés) Blaheudldene

[Question ID = 2267][Question Description = TAM_26Nov_S1_Shift1_Q37]
1. 1 [Option ID = 9065]
2. 2 [Option ID = 9066]
| 3. 3 [Option ID = 9067]
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| 4. 4 [Option ID = 9068]

Carrect Answer :-
s 1 [Option ID = 5065]

QgrevarLnQuir smo eeninlar srwd @osfcr Qurfd miwren “selass s Hradid
oewbdlpliugras smmlbd slhs Spermieurent,

(1) Wi g fAeuen (2) Smwerrd Qedaubareu upsealwmi
(3) L& EreEbUBSE (4 sr.g. gragpiss

[Question ID = 2268][Question Description = TAM_26Nov_S1_Shift1_Q38]
1. 1 [Option ID = 9069]
2. 2 [Option ID = 9070]
3. 3 [Option ID = 5071]
4, 4 [Option ID = 9072]

Correct Answer :-
e 1 [Option ID = 506%]

29) €(1F LIanL_LIeDLl 6T8) jebagy eThsil Licr @esfwwnns &@dng eaaudld seuand Cesybdwen
(1) Grmwer wrGsmliiser (2 Gyreew umis
(3) EGfr (4) Geeldl o _gmei

[Question ID = 2269][Question Description = TAM_26Nov_51_Shift1_Q39]
1. 1 [Option ID = $073]
2. 2 [Option ID = 9074]
3. 3 [Option ID = 9075]
]

Carrect Answer :-
& 1 [Option ID = 9073]

30
: spueman @EbgeTer Lian_LiLsenar ais @asdlu Euisssdld Cerssenb?
(1) GlwduieimiSlwie 2) yevenelluied
{(3) &SI Ligleilwiib 4  pratlud

[Question ID = 2270][Question Description = TAM_26Nov_51_Shift1_Q40]
1. 1 [Option ID = 9077
2. 2 [Option ID = 9078
3. 3 [Option ID = 9079]
4. 4 [Option ID = 9080
Correct Answer ;-

& 1 [Opticn ID = 9077]

elnfesdwub, Gurgy Qesddlub aam @m GCeum ugdlserms’ iflswb Lihwu CerdrepseniLid
Conhmeilss GG rErs <iflept

(1) euren sib @) Cogrsl Qssavs

(3) GlyGar erglwmibi9lé (4 gourc erdosmmdr

[Question ID = 227 1][Question Description = TAM_26Nov_51_5Shift1_Q41]
1. 1 [Option ID = 9081]
2. 2 [Option ID = 9082]
3. 3 [Option ID = 9083]
4. 4 [Option ID = $084]

Carrect Answer :-
s 1 [Option ID = 3081]

32) Ogmig el 2 ertiLgliumiesd Gandresuller Cadeurs@ae el ul L duamariliuereniaar,

i PR TTT, SPTrs, PR i - P S Y
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i wnonavi wggnowgon
B)  gYalun’ O Qe
(C)  Gulig SenyLen
D) Cepewen Asev
apmer #flwireans

(1) ABC

3 ABD

? B.C.D
4 ACD

[Question ID = 2272][Question Description = TAM_26Nov_51_Shift1_Q42]

1. 1 [Option ID = 5085]
2. 2 [Option ID = 9086
3. 3 [Option ID = 9087]
4. 4 [Option ID = 9088
Correct Answer ;-

« 1 [Opticn ID = 9085]
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33) Qasdushar GLib swpssflar GUOALIESE sLLmbULLE Beanssil UMisss S688 o

Aardrensenl o enL_wig).

(A) pPussefwud Qur@er (psdeunsb
(B) auerHdlue Curmer wWwadeursid

(C) My Slelliings Gamur@

D) Qossdlud
@eupmict gflwimeang

()  AB.Cuocon
(3 B.C.DoL@w

(2 A, B.D @
(@) A C.Duwr@b

[Question ID = 2273][Question Description = TAM_26Nov_51_Shift1_Q43]

1. 1 [Option ID = 9089]
2. 2 [Option ID = 9090]
3. 3 [Option ID = 9091]
4. 4 [Option ID = 9092]

ppeour,g fpemia Qeligeuirger

(A) e . Geu.am.

(B) Hl.aneu.gm.

(C) . gremenUtiEm
(D) &. 15 &,

Eeupmer sflwurergs

(1) A B,C o
3 A C.Duw @

2 B,C.Duwr@w
4 A.B,Duw @

[Question ID = 2274][Question Description = TAM_26Nov_51_5Shift1_Q44]

1. 1 [Option ID = 9093]
2. 2 [Option ID = 5094]
3. 3 [Option ID = 5095]

4. 4 [Option ID = 9096]

Carrect Answer :-
& 1 [Option ID = 093]

BrduBsgs :
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(A) SlehramranoriAugd
(B) e oA

(©) adisrosgeb
(D) 2_reueilwed
Gleupmuer Fflwinerg

(), AB.CD @ C,D,BA
(3 B.,D.CA 4 D,C,B.A

[Question ID = 2275][Question Description = TAM_26Nov_51_5Shift1_Q45]
1. 1 [Option ID = 909%7]
2. 2 [Option ID = 9098]
3. 3 [Option ID = 9099]
4. 4 [Option ID = $100]

Carrect Answer :-
s 1 [Option ID = 8097]

36)  Lliguid gemenpll Ligwied @rasrGm(R CurEEss :

LI g e T L g e 11
(A) <. rigey D  wawanbd wells 2 M6 geHb
(B) TiD.GF. BloolDIEN D sl Sipflud wryn Cerlurbin
(C) 4.5 pLyrgen ) spps wgrissapnd Godduls Lenareyid
(D) Csr. Goseuan (IV) Spdlasdwukiser fa GoHilLser

ECp sruGunmatereupflalmibs) sflwren sileo s Gafle) Calis :

1)  (A-AD. B)-AID. (O-O). O)-AV)
2)  A-a4D. B)-av). (G)-(D. (D)-I)
(3)  (A)-aI). B)-(D. (C)-AV). (D)-(I)
@)  (A-IV), (B)-ID. (O)-AD. (D)D)

[Question ID = 2276][Question Description = TAM_26Nov_51_5Shift1_Q46]
1. 1 [Option ID = 9101]

2. 2 [Option ID = $102]

3. 3 [Option ID = $103]

4. 4 [Option ID = $104]

Correct Answer :-

s 1 [Option ID = 9101]

37) QSlws-pudl erang Sausflhsmoaflonwuls Ushhbaeur
(1) ardhbleudd (2) eSywrupeieuir
(3) Facr undg (4  fay.Curd

[Question ID = 2277][Question Description = TAM_26Nov_51_5Shift1_Q47]
1. 1 [Option ID = 9105]

2. 2 [Option ID = 9106]

3. 3 [Option ID = 9107]

4. 4 [Option ID = 9108]

Correct Answer ;-

e 1 [Option ID = 9105]

28] cl@allunyssdled arFanams L(hHeuRIGET 2 draren?
(1) <24 2 uerailyan®
(3) uss @) obs

[Question ID = 2278][Question Description = TAM_26Nov_51_5Shift1_Q48]
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1. 1 [Option ID = 9109]
2. 2 [Option ID = 9110
3. 3 [Option ID = 9111]
4. 4 [Option ID = 9112
Correct Answer ;-

e 1 [Opticn ID = 9109]

39
) aSywrpaileuflar Cobureuenfl erie SrmGabprinr L g7
(1) ogienyS SOlhEsRIED (2) Smageus sdlpeshisd
(3) fmsgieu @asdug giisbd 4) sypnss slpésrisd

[Question ID = 2279][Question Description = TAM_26Nov_S1_Shift1_Q49]
1. 1 [Option ID = 9113]

2. 2 [Option ID = 9114]

3. 3 [Option ID = 9115]

4. 4 [Option ID = 9116]

Carrect Answer :-

e 1 [Option ID = 9113]

49) perbleuarLimelled @LbGlumng sreRTLb
(1) SWILDGU T SmefTL_Lh 2) sdlllsrd sraw_ib
3 &HOSTLIT SrETID (4) & Briss sraLib

[Question ID = 2280][Question Description = TAM_26Nov_51_5Shift1_Q50]
1. 1 [Option ID = 9117]

2. 2 [Option ID = 9118]

3. 3 [Option ID = 9119]

4. 4 [Option ID = 9120]

Correct Answer ;-

e 1 [Option ID = 9117]

1) Slenflaflsarmed qn susb ergud Lgd j@onallan scllasd Cangly apg umsamwus Enibeg) ?
1  sgo (2) eanéen
(3) Claesr_flyy, (4) Gunréngmi

[Question ID = 2281][Question Description = TAM_26Nov_51_5Shift1_Q51]
1. 1 [Optien ID = 9121]

2. 2 [Optien ID = 9122]

3. 3 [Option ID = 9123]

4. 4 [Option ID = 9124]

Correct Answer :-

e 1 [Option ID = 9121]

) Canowseund prgeflen BrLs cunpans Siguuass sl hes Qsrigrs Ceualleubs @gwb
(1) SFL_GLIN (2) eudedlanib
(3) @l (4) suwriserT

[Question ID = 2282][Question Description = TAM_26Nov_51_Shift1_Q52]
1, 1 [Option ID = 9125]
2. 2 [Option ID = 9126]
3. 3 [Option ID = 9127
4. 4 [Option ID = 9128]

Carrect Answer :-
s 1 [Option ID = 9125]

Emllmy sepL o () areneyd Larseng erpdlwieuir

(1) Elenowitd (2) Cgmig. @ewe

R Fa = e £ odw L3
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[Question ID = 2283][Question Description = TAM_26Nov_51_Shift1_Q53]
1. 1 [Option ID = 9129]
2. 2 [Option ID = 9130]
3. 3 [Option ID = 9131]

Carrect Answer :-
& 1 [Option ID = 9129]

0 eUMPHSTRID eFeb STPHSTRID gab aeusd @smsrean_r agub um & euflsaer erppdlweur
(1) LITLIBTED &Heuei (2) wmssté
(3) 5 68T T 5 T F T (4) aefl. &r.qp. Qe

[Question ID = 2284][Question Description = TAM_26Nov_S1_Shift1_Q5b4]
1. 1 [Option ID = 9133]
2. 2 [Option ID = 9134]
3. 3 [Option ID = 9135]
4, 4 [Option ID = 9136]

Correct Answer :-
e 1 [Option ID = $133]

cflmssrumailedd sienwhs STrTwmsar

(A  Sous Spsmoen]

(B) Qu(piisas

(C) Gluflwyyremnd

(D) @armoenf]

Qeupmier sflwnearg

(1 A, B.C wi@pd 2) A.C.Dwuipon
3 B.C.D wl @ 4) A.B.Dw pw

[Question ID = 2285][Question Description = TAM_26Nov_S1_Shift1_Q55]
1. 1 [Optien ID = 9137]

2. 2 [Option ID = 9138]

3. 3 [Option ID = 9139]

4. 4 [Option ID = 9140]

Correct Answer :-

e« 1 [Option ID = 9137]

Eeus Abgmoend

@ 2mes Gplew edluynssdng

B Peoeouramws smagisaer ahisdubLdpg

(C)  Amssiureunrd enwhag

D) 12 gabumsarrad Gflssinn Herergy

Beupmier Filurerg

1) A B.C o (2) B.C.Duwui{pwn

3 A B.D wHw 4 A.C Dwl(iw

[Question ID = 2286][Question Description = TAM_26Nov_51_5Shift1_Q56]
1. 1 [Option ID = 9141]

2. 2 [Option ID = 9142]

3. 3 [Option ID = 9143]

4. 4 [Option ID = 9144]

Correct Answer :-

e 1 [Option ID = 9141]
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- -

(A) syGured waranfler oemeussars Ljeeul

B  diflevseu Blenst Lim_dsamary] Limguwiar
(C)  sheusiow saujes Sisgeameansear @uindluieul
D)  @wrer S0 sy ergyud LI QLbmaui
Geupmien gtlwreng

() A B, C oG (2) B,C.D w @b
(3 A, C,Duw @ () A B,Duwr@o

[Question ID = 2287][Question Description = TAM_26Nov_51_5Shift1_Q57]
1. 1 [Option ID = $145]

2. 2 [Option ID = 9146]

3. 3 [Option ID = 9147]

4. 4 [Option ID = 9148]

Correct Answer :-

» 1 [Option ID = 9145]

Gleneu Garemrmudlulcr Amsamass Aam@dsd

&)  wilaflonisaler sas

(B) Wunmbenwadr 2 prigl BSID

(©) uLpuysflad 2 prgb ppETDID HTIOWD
D)  yease &Gy

Gepmér sfluirers,

(1) A C.Duwifo @) B.C.Dwc@o
(3) A B.Duw@b (4) A B,Cuwl@o

[Question ID = 2288][Question Description = TAM_26Nov_S1_Shift1_Qb8]
1. 1 [Optien ID = 9149]

2. 2 [Option ID = 9150]

3. 3 [Option ID = 9151]

4. 4 [Option ID = 9152]

Correct Answer ;-

e« 1 [Option ID = 914%]

GT(LPSSITETIT HihenL

(A 1944F@ dphseur
(B) eounGym erggib enwlienut BlmeTweu

(C) wytiungd eremry fnsensd dar@rnden gpfiflwm

D) apsd sdwunub ererp Fnseaows Syt onss swurilsgseurr

Eeibhmer Fflwireng)

() A B C @b
2 B.C.Duwc@n
(3) A B.Duw @b

4 A C.Duwc@b
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| [Question ID = 2289][Question Description = TAM_26Nov_S1_Shift1_Q59]
1. 1 [Option ID = 9153]
2. 2 [Option ID = 9154]
3. 3 [Option ID = 9155]
4, 4 [Option ID = 9156]

Correct Answer :-
a 1 [Option ID = 8153]

Ll g geepplt Ll iguied QranGLrl Cunmpsss

@iy seniln wngdlfsid

L que I L iquied 1T
(A) =f ugpeutb M 11 UL enser
B) Gwr umend (IT) 10 U_@isser
(C) Hlarer ugreud (II) 19 UL eiiEeT
D) yyenflw uggeuld (IV) 4 uLenusdr

&Gy syuGlubmeararcudeSimba sfluner sflen ews Qsfley Cews :

1)  A-AD. (B)-D), (C)-AV). (D)-(11D)
2 @-IOV), B-OD, (C)-O. (D)-AD
(3 A-0, B)-IV), (O)-O). (D)-AD
@ @@-ID. (B)-Av), (O-UD, O)-O

[Question ID = 2290][Question Description = TAM_26Nov_51_5Shift1_Q60]
1. 1 [Option ID = 9157]

2. 2 [Option ID = 9158]

3. 3 [Option ID = 9159]

4. 4 [Option ID = 9160]

Correct Answer ;-

e 1 [Option ID = 9157)

g wid eerenpll L iqguié @ranmGrn® Qunerssis

Frpdsl Ldler o Aflwnsenn Ldlahisen

UL g ui I L g wieb 1T
(A) eren.@um IO Qsrfléden
B) swpbser (I) wruied
(C) CGegrur s&d (III) wsryrgreiler LanseusiTly
D) = wigdnan V) =prau®

&Cy syu@upmerereupBedmbg sfwren el enug Gsfley Qe :

(1 @-Ah. B-AV), (C)-D. (D)-(ID

@  A-O. B)-ID, (C)-1D, (D)-av)

(3 @-Aam). B)-@, (C)-1V), (D)-AD

4 A-av). B)-0), (O)-a1D), (D)L
[Question ID = 2291][Question Description = TAM_26Nov_51_5hift1_Q61]
1. 1 [Option ID = 9161]

2. 2 [Option ID = 9162]
| 3. 3 [Option ID = 9163]
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Carrect Answer :-
& 1 [Option ID = 8161]

BlrouBEgs

QlarmGareuigsar hisa eumpsgsin um_elé Gurhmeuear

(A)
(B)

©)
(D)

@5muSimy
LOGDLY
Skigar

Lptb L&

Qeupmen sflwirearg

(D
)
3
@

B, G A D
D.ACB
C.AB.D

A.C,D.B

[Question ID = 2292][Question Description = TAM_26Nov_51_5Shift1_Q62]
1. 1 [Optien ID = 9165]
2. 2 [Option ID = 9166]
3. 3 [Optien ID = 9167]
4. 4 [Option ID = 9168]

Correct Answer -
e 1 [Option ID = 9165]

sraauflesliuly HlyduBsss

@
®)
©
®)

Gamude Symwnib

Cionasapar

fla Curiusailey e waflgisar
spByLs

@laupmyer sfluimang)

ey
3

B,C.A, D 2 A.B.C.D
C.D.B A (4 B,C,DA

[Question ID = 2293][Question Description = TAM_26Nov_51_5Shift1_Q63]
1. 1 [Optien ID = 9169]
2. 2 [Optien ID = 9170]
3. 3 [Option ID = 9171]
4. 4 [Option ID = 9172]

Correct Answer ;-
e 1 [Option ID = 9169]

e mifléambm () : e gas aaib Lfasas aupdwueli sodl

ErjerTd (&)

@
2)
3

() &hl (gm) sflurer alar&swmgd
() &l (sm) sflurenr alardswenm

() seum (sm) &fl

2 sty ey | L e B

sl Sienevsalld dogipb Baeuisaldar eumnpeliweanad Hsshsdng
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[Question ID = 2294][Question Description = TAM_26Nov_51_5Shift1_Q64]
1. 1 [Option ID = 9173]
2. 2 [Option ID = 9174]
3. 3 [Option ID = 9175]
4. 4 [Option ID = 917
Correct Answer :-

e 1 [Option ID = 9173]
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u&ensLl Mg @ rLrsl L wrhpd Qe Gummer

(1)  Qpuw (2) &
(3) Qe Ben 4y 2.0y

[Question ID = 2295][Question Description = TAM_26Nov_51_5Shift1_Q65]
1. 1 [Option ID = 9177]
2. 2 [Option ID = 9178]
3. 3 [Option ID = 9179]

Carrect Answer :-
# 1 [Option ID = 9177

Gampir anewgdled priger GDflafig eupristul L Guwd

D e (2)
(3) ulgemnd (4)

HaDmb

Al _rens

[Question ID = 2296][Question Description = TAM_26Nov_S1_Shift1_Q66]
1. 1 [Optien ID = 9181]

2. 2 [Option ID = 9182]

3. 3 [Option ID = 9183]

4. 4 [Option ID = 9184]

Carrect Answer :-

e« 1 [Option ID = 9181]

57)
Bennuiled Blevriser eremuene

(1) Quetgs LaTafls@pssneang (2) eswewls LigrallsEndEaTarg)

(3 B\ b S ERT {15 GTH & TEBT S| 4 GasmlleosEpisnarg

[Question ID = 2297][Question Description = TAM_26Nov_51_5Shift1_Q67]
1. 1 [Option ID = 9185]

2. 2 [Option ID = 9186]

3. 3 [Option ID = 9187]

4. 4 [Option ID = 9188]

Correct Answer ;-

e 1 [Option ID = 9185]

58) Qzananen wrsremsBpOsann seafl o Wi warmb JeLESILLTL @[

(1) 1801 (2) 1889
(3) 1862 (4 1865

[Question ID = 2298][Question Description = TAM_26Nov_51_Shift1_Qé68]
1. 1 [Option ID = 9189]
2. 2 [Option ID = 9190]
3. 3 [Option ID = 9191]
4. 4 [Option ID = 9192]

Correct Answer :-
& 1 [Opticn ID = 9189]
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>9) Eeupmier erigs mréd CQsm. uywHeutd, SeuirsEanTed erapsriLiL cfldena 7
(D LomeniLeu L (2) weszar wHew
(3) Slymo eumphans 4 Apussd

[Question ID = 2299][Question Description = TAM_26Nov_51_Shift1_Q69]
1. 1 [Option ID = 9193]
2. 2 [Option ID = 9194]
3. 3 [Option ID = 9195]
4. 4 [Option ID = 9196]

Carrect Answer :-
& 1 [Option ID = 9193]

60) 2 um_daaflen Galiaub
(1) Heuem (2) @udlyen
(3) Sl (meiyanren (49) swpsen

[Question ID = 2300][Question Description = TAM_26Nov_S1_Shift1_Q70]
1. 1 [Option ID = 9197]
2. 2 [Option ID = 9198]
3. 3 [Option ID = 9199]
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4, 4 [Option ID = 9200]

Correct Answer :-
a 1 [Dption ID = 9197]

°1) erflall ereruigy
(1) Senysfepe (2)  pfuGuer
(3) weuerEsm(h (4) erfopsn

[Question ID = 2301][Question Description = TAM_26Nov_51_5Shift1_Q71]
1. 1 [Option ID = 9201]
2. 2 [Option ID = 9202]
3. 3 [Option ID = 9203]
4. 4 [Option ID = $204]

Carrect Answer :-
& 1 [Option ID = 9201]

62
: SETENeT aligdEl L LuaTLIRSSIILL L Smel
(1) FededenL_ (2) uerenmanl_
(3) &8 (4 eprudld @omi

[Question ID = 2302][Question Description = TAM_26Nov_S1_Shift1_Q72]
1. 1 [Option ID = 9205]
2. 2 [Option ID = 9206]
3. 3 [Option ID = 9207]

4, 4 [Option ID = 9208]

Correct Answer :-
e« 1 [Option ID = 5205]

&@)s&e‘s aamg,ﬂ (] F =1 1

(A) WPSSIVILIL L6 EengLImL_6d
(B) SFOLBTLIT SengUILITL_&
(C) @UurwlUdie sensLiLme
D)  srsgeuymue sLILTL®
Qaupmer sflwnerg
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(1) A, B.U bl {Hib
(3 A.C.Duwr@w

(Z) A.b, Ul (Hib
(49 B.C,Duwr@o

[Question ID = 2303][Question Description = TAM_26Nov_51_5Shift1_Q73]

1. 1 [Option ID = 9209]
2. 2 [Option ID = 9210]

3. 3 [Option ID = 9211]

4. 4 [Option ID = 9212]

Carrect Answer :-

e 1 [Option ID = 9209]
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A)  omis Grreny

(B)  Aoarders soprer
(C) arigflans eflarad(

(D) Clurise eilpm
eupmer sflurerg

() A, B.C wcfuw
(3 B,C.Dwl @

esBBImLd g dér @y CsmL i e wena

(2 A.B,D @
4) A.C,Duwfw

[Question ID = 2304][Question Description = TAM_26Nov_51_5Shift1_Q74]

1. 1 [Option ID = 9213]
2. 2 [Option ID = 9214]
3. 3 [Option ID = 9215]
4. 4 [Option ID = 9216]
Carrect Answer :-

e 1 [Option ID = 9213]

A) wimp Gleusml

(B) sena&Gsnd Geuamdl
(C) <& Gleuendl

(D) Lim_ed Geuei)
@eupmiet sflwreng

() A B.C i@
(3 B.C.Duwlr @b

LpuGummer Qeuaruimorens @HUEHL Ceudndlaer :

(20 A.C.D wr @
4 A.B,Duwc@w

[Question ID = 2305][Question Description = TAM_26Nov_51_5Shift1_Q75]

1. 1 [Option ID = 9217]
2. 2 [Option ID = 9218]
3. 3 [Option ID = 9219]
4. 4 [Option ID = 9220]
Carrect Answer :-
e 1 [Option ID = 9217]

AatinSsryd sr_(Hhd @bzser
Litguien I

(A) s wEsmbg)

B) Guubmps)

(C) wrssrdsmss

D) ureaismsg

U igLiéh gpeimanptl LI g wié @rarGLrh Qunmass :

L gusen IT
O @islyen werenall yullymentl g uisads)
(D)  Smpwsdr gpquismis)
D smoar spgusmse
AV) Qamppenes Spisisags)
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£Cy syuGubmararaupdleSipba sflunar cllen wg Qg fley Qews :

(1)
2
3
(4)

(A4)-(D). (B)-AV), (C)-ID, D)-@)
(A)-(@), B)-dID), (C)-IV). (D)1IT)
(A)-AV). (B)-AD. (C)-D). (D)-(IID
(A)-(I), (B)-[D), (C)-(L). (D)-(IV)

[Question ID = 2306][Question Description = TAM_26Nov_S1_Shift1_Q76]

Dok ot R

1 [Option ID = 9221]
2 [Option ID = 9222]
3 [Option ID = 9223]
4 [Option ID = 9224]

Correct Answer :-
e 1 [Option ID = 9221]

67)

D g id @erenpl Ll ipwid @ranGnr( Cunmmigsis

gpanans mqﬁaﬂeﬁr LS EET

(A4)
(B)
©
@)

i iguie I
GRENe
wrGermanao
Lok Sy Geunene

jennGuirene

L g uiey I
(D aunaflwe Aoiiflsaner erpgibh Feugsear
(ID weraraflen yenamsenar T(LPFHILD HeigsHeT
dII) ugdymsenar erPgId SHeulgser
(IV) Galdlseer erpss LweTLBGHID Kag ST

&Gy syQupmarereuhMe g sflwunear e amwg CGsfley Qeis

(@)
(2)
(3
(4

(A)-AV), (B)-D). (C)-dD), (D)-(11D)
(&)-ID), (B)-ID), (O)-M), M)-aAV)
(A)-aID), (B)-ID). (O)-IV), M)-D
(A)-O, B)-AV). (O)-1ID. (D)-AD)

[Question ID = 2307][Question Description = TAM_26Nov_S1_Shift1_Q77]
1. 1 [Option ID = 9225]
2. 2 [Option ID = 9226]
3. 3 [Option ID = 9227]
4, 4 [Option ID = 9228]

Correct Answer :-
a 1 [Dption ID = 9225]

68)

(A)
(B)
()
)

D
(3)

SMOan(
LT[ GOOTLD
@muﬁ)

SantlEn

C.D.A'B
D.C.B.A

araremiitluwraanear gn eaflepsule BlyouRSSHIS :

@ AB.CD
(49 AC.DB

[Question ID = 2308][Question Description = TAM_26Nov_51_5Shift1_Q78]
1. 1 [Optien ID = 9229]
2. 2 [Optien ID = 9230]
3. 3 [Option ID = 9231]
4. 4 [Option ID = 9232]

Correct Answer ;-
e 1 [Option ID = 9229]
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69)

Faulg senarll Unrgsrs@in Gunml (h Geafssarsamens sra suqliue 1id aufllesiiupisss

(A)
(B)
©
D)

)
3

FyCGuradl et
Limaimig &8 e SEHaT
Q&g

erGLmi erflwéd

C,A.D,B (2 A.B.C.D
A, C.D,B (49 B.D.C.A

[Question ID = 2309][Question Description = TAM_26Nov_51_5Shift1_Q79]
1. 1 [Option ID = 9233]
2. 2 [Optien ID = 9234
3. 3 [Optien ID = 9235]
4,

Correct Answer :-

4 [Option ID = 9236

e 1 [Option ID = 9233]

fleneneyd shaer :

(A)
(B)
(©
D)

wredlé shaer
B &baer
sowgnudls sHadr

&hpaflser

Gepmer sflwunarg

(1)
(3

A, B. C wor @ (2) A.B.D wr @
A, C.D i @i 4) B.C.,Duwr@o

[Question ID = 2310][Question Description = TAM_26Nov_S1_Shift1_Q&80]
1. 1 [Option ID = 9237]
2. 2 [Option ID = 9238]
3. 3 [Option ID = 9239]
4, 4 [Option ID = 9240]

Correct Answer :-
e 1 [Option ID = 9237]

71)

Cougurt sessgILer Ggmiryerrwi AN ey SiFsrfadr

(A)
(B)
©)
D)

aflévallind @ Ligirig i 19y
gir. ey Gy
sirand Sloeuenil

GeudGeaned iy

@eupmer sflwmeang

6y
)

A. B. C we @ (@ A, C.Duw @
B, C, D wr G (4 A, B,Duw @

[Question ID = 2311][Question Description = TAM_26Nov_51_5Shift1_Q81]
1. 1 [Optien ID = 9241]
2. 2 [Option ID = 9242]
3. 3 [Option ID = 9243]
4. 4 [Option ID = 9244]

Correct Answer -
e 1 [Option ID = 9241]

2 mifl&smm (2)  Lweturl_(f BICLTT apssTmisaT helard @ ipasalld Liuami(n&s i (e esrmer.

prepp

Your Personal Exams Guide



www.prepp.in

SIyemnd (&m) D Bt aupdsrpsdr euaflswuwrssiu@Slaimer

Qeupmyer

(1) (=) & wHyb (&) &l

(2) () seumy wpmb (&) &
(3) (2.) &l o (&r) Seum
(4) (2.) seuml OMID (SM) Seuml

[Question ID = 2312][Question Description = TAM_26Nov_51_5hift1_Q82]
1. 1 [Option ID = 9245]

2. 2 [Option ID = 9246]

3. 3 [Option ID = 9247]

4. 4 [Option ID = 9248]

Correct Answer ;-

e 1 [Option ID = 9245]

73) wdorpeureny GumHdld Sl Lmgur BIO 6rg)?
1) s Gseruir oipsnd (2) syeveud bz
(3) LIPLOENG) <t M) (4  =nUmsl opsrd

[Question ID = 2313][Question Description = TAM_26Nov_51_Shift1_Q83]
1. 1 [Option ID = 9249]

2. 2 [Option ID = 9250]

3. 3 [Option ID = 9251]

4. 4 [Option ID = 9252

Correct Answer :-

e 1 [Opticn ID = 9249]

74) ‘ehgliureuai’ erart) GunbpLBueut Wi ?
(1 omewdfprs (2) smuywrerauir
(3) WELETANEL (4 Hmepeor

[Question ID = 2314][Question Description = TAM_26Nov_51_Shift1_Q84]
1. 1 [Option ID = 9253]

2. 2 [Option ID = 9254]

3. 3 [Option ID = 9255]

4. 4 [Option ID = 9256]

Correct Answer :-

» 1 [Option ID = $253]

7
g Ll igengsnilan sefitium & Gam@liy aeicurm siapsasiuhidng ?
{1) Liratarig &Gasmaneu (2) HAssir @rarsGarans
(3) apdwenfls Csreney (4 SmsCGurenan

[Question ID = 2315][Question Description = TAM_26Nov_51_Shift1_Q85]
1. 1 [Option ID = 9257]

2. 2 [Option ID = 9258]

3. 3 [Option ID = 9259]

4. 4 [Option ID = 9260

Correct Answer ;-

e 1 [Opticn ID = 9257]

Heudsellwenfl slGywenflln wagdlwnit erbg preayse ey erdleanmi?

(1) SLOUI TLOMILI6sTLD (2) Quflwyyrewrb
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(3) &mpellenemuim_ed Ljrremrid (4) sBSLTTERTD

[Question ID = 2316][Question Description = TAM_26Nov_S1_Shift1_Q&8s6]
1. 1 [Option ID = 9261]

2. 2 [Option ID = 9262]

3. 3 [Option ID = 9263]

4, 4 [Option ID = 9264]

Correct Answer :-

e 1 [Option ID = 9261]

‘SlapQeu (e idlmsens’ Lmywieuise :

(A  dmerensbLbsi
(B) SITUL|LOTETeu T
(C) S(miokianswimpeu i

D)  simandlflprst

(1) A B, C w G & @ A CDuw pw &
(3 A B, Dol &l 4) B.D.Cu_ipd g

[Question ID = 2317][Question Description = TAM_26Nov_S1_Shift1_Q&87]
1. 1 [Option ID = 9265]
2. 2 [Option ID = 9266]
3. 3 [Option ID = 9267]
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4, 4 [Option ID = 9268]

Correct Answer :-
e 1 [Option ID = 9265]

Seueflwuts QAyuks 2 eogulled gm Lg eramLIg)

@) g Aypsid samiL@D
(B) @blnwpssssaas sansdla Qandreuddame
(C) oulimpd Auileywrs 32 asgssenas CsreRTLg)

(D) el Gwmdl erupsHEEdT Sawaing al(hb.

(1) A B C oG s @ A, C.D wr @ s
(3) B,C,Duw @ & (49 A B,Duw @b sf

[Question ID = 2318][Question Description = TAM_26Nov_51_5Shift1_Q88]
1. 1 [Option ID = 9269]

2. 2 [Option ID = 9270]

3. 3 [Option ID = 9271]

4. 4 [Option ID = §272]

Correct Answer :-

s 1 [Option ID = 9269]

Dl igwid @arenpl uligud @ranCLr®h Qunmsss :
Srupsmis@shd @uhdiu < Sfwisenn

L iquied I g uid IT
(A)  pwrpeum D  wewermdilyrer
(B) Smodiensuwimpeui (ID)  Smeurflflwb
(C)  Smumnmanrrpeumi (III) semesilmen HAnibsmbly
D)  wamrseSlwumpeuni IV) SAdlwu Ssord

&Cp snublupmearereupdlelmba sflunear efen eanwis Csfley Csdis :

(1y  (AAD. (BYTID. (CY-(D. (DY-OIV)
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(2  @A-AD. B)-AV), (C)-D). (D)-(ID
(3  A-ID, (B)-IV), (CO)-dID), D)D)
@  A-IV), BID, (O)-an. O)-O

[Question ID = 2319][Question Description = TAM_26Nov_S1_Shift1_Q48&9]
1. 1 [Option ID = 9273]

2. 2 [Option ID = 9274]

3. 3 [Option ID = 9275]

4, 4 [Option ID = 9276]

Correct Answer :-

e 1 [Option ID = 9273]

Blréoubbgs

aneuemren g Frflwiseneards sroapanniilily eiflasliuBsss.

(A) Gy rgged
(B) (BT (P GTl &

(© DSTEINET LoTpaiiseaT
(D)  ypereupsmi
Qeupmer sflwnearg

()  AB.D.C

(2 AB.CD
(3 B.D.C.A
4 B,D.AC

[Question ID = 2320][Question Description = TAM_26Nov_51_5Shift1_Q90]
1. 1 [Option ID = 9277]

2. 2 [Option ID = 9278]

3. 3 [Option ID = 9279]

4, 4 [Option ID = 9280]

Carrect Answer ;-

s 1 [Option ID = 9277]

o mdlEshny () : STENyEETE® Jpbevowint g Ldshisaen ) uamasilensu) s LImgu|eTeTmT

STjeRTLD (&) : @eut dsenrans @engullar gmit’ eram’t Gurdmliv@GEpmit

(1) (2.) &l (&m) seumy
(2) (2) seumy (sm) &l
(3) (2.) &fl (sm) &

@ () peu (&) Seug

[Question ID = 2321][Question Description = TAM_26Nov_51_Shift1_Q91]
1. 1 [Option ID = 9281]
2. 2 [Option ID = 9282]
3. 3 [Option ID = 9283]
4. 4 [Option ID = 9284]

Carrect Answer :-
& 1 [Option ID = 9281]

82) sapileyd @Hinbeud erigan @abummer GeupmenioL amd jerfl 61 ?
(1) gal_anfl (2) Gaupmeniowenfl
(3) @ DiriLent] (4) Ceupmyri@umgser aneuliL e

[Question ID = 2322][Question Description = TAM_26Nov_51_5Shift1_Q9%92]
. 1 [Option ID = 9285]
2 [Option ID = 9286]
3 [Option ID = 9287]
. 4 [Option ID = 9288]

P
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Correct Answer :-
e 1 [Option ID = 9285]

53) Gleuaimigsenar augti@upm, QeuaiGamens spell emGurmd Cud mHDY Ap&FImi aumeug....
(1) &ad GeuarLm (2) sdlggnflans
(3) sadlel(mSHd (4) GCleuamsadliium

[Question ID = 2323][Question Description = TAM_26Nov_51_Shift1_Q93]
1. 1 [Option ID = 9289]
2. 2 [Option ID = 9290]
3. 3 [Option ID = 9291]
4. 4 [Option ID = 9292]

Carrect Answer :-
& 1 [Option ID = 9289]

84) SMESL (& DBLEMG (HRTRISEET TSSenarn ?
(1) 22 (2 12
(3 11 4) 13

[Question ID = 2324][Question Description = TAM_26Nov_51_5Shift1_Q94]
1. 1 [Option ID = 9293]

2. 2 [Option ID = 9294]

3. 3 [Option ID = 9295]

4. 4 [Option ID = 9296]

Carrect Answer ;-

s 1 [Option ID = 9293)

83 Qeuamuimy L iquiellen Gaum@unr wingy ?
(1) PGS BSLTENE (2) ugruyrenwrene
(3) SIHL_SHEOLDITENED (4) euFsampdliorena

[Question ID = 2325][Question Description = TAM_26Nov_51_Shift1_Q95]
1. 1 [Option ID = 9297]
2. 2 [Option ID = 9298]
3. 3 [Option ID = 9299]
4. 4 [Option ID = 9300]

88) Blydoubsss
Cgresriwi GuibSuyerar gpndley 2 wilisalled yoearhley e ulisamear Hlydubsgs :

(A) et

(B) AL

©  pr

D e

Qeupmiar sflwnarg

(1) ABCGCD 2 CD.BA
3 AB.D,C (4 C.D,A.B

[Question ID = 2326][Question Description = TAM_26Nov_S1_Shift1_Q96]
1. 1 [Optien ID = 9301]

2. 2 [Option ID = 9302]

3. 3 [Option ID = 9303]

4. 4 [Option ID = 9304]

Correct Answer ;-

e 1 [Option ID = 9301]

87)  Broudies :
28658 0Cs 2 M Guernd Seusangern Flydu@Ess.

PO Y DT R0 WS TR TE )
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. smygrovr ousZrou ) oU
(BY smenp eflfissd

(C) 2 anL_Glunnrss EEsa
(D) snilgnerm senearged

(1) ABCD
3 AB.D.C

(20 B,D,AC
(49 B.AC.D

[Question ID = 2327][Question Description = TAM_26Nov_S1_Shift1_Q97]

1. 1 [Option ID = 9305]
2. 2 [Option ID = 9306
3, 3 [Option ID = 9307]

prepp
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4, 4 [Option ID = 9308]

Correct Answer :-

s 1 [Dption ID = 9305]

%) frou@sss

Aaresrifur sgon Querurd duwrsaear auflensliLHSHS -

(A) Guen
B) ATHE
(C) AN T
D) Gure

1) A, C.D,B
3) B.C.D. A

2 A.C.B.D
4 B.CD.B

[Question ID = 2328][Question Description = TAM_26Nov_S1_Shift1_Q98]

1. 1 [Option ID = 9309]
2. 2 [Option ID = 9310]

2. 3 [Option ID = 9311]

4. 4 [Option ID = 9312]

Carrect Answer :-

e« 1 [Option ID = 9309]

saluurefp@d Lflur_gus@n o fMug

A pris s
B Sy s
(C) o as apis

@)  LeQar aises
Eeubmer sflwrerg

(1) A B.Cur@ob s
(3 B.D,Awc@wb &d

2 B,C.D wr@b s
4 A C,Doc@od e

[Question ID = 2329][Question Description = TAM_26Nov_51_Shift1_Q99]

1. 1 [Option ID = 9313]
2. 2 [Option ID = 8314
3. 3 [Option ID = 9315]
4. 4 [Option ID = 9316
Correct Answer ;-

e 1 [Opticn ID = 9313]

90
‘ Agréarndwi @Ol 9Giub eyerurd Cluwirser
(A) TR
B) e

() (@l rremm
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[Question ID = 2330][Question Description = TAM_26Nov_S1_Shift1_Q100]
1. 1 [Option ID = 9317]

Ly

D)

PH55D

@eupnier sflwrerg

(1
3

2. 2 [Option ID = 9318

3. 3 [Option ID = 9319]
4. 4 [Option ID = 9320
Correct Answer :-
e 1 [Opticn ID = 9317]

A, D. B o @b sl
A C.Dw @ af

@

B.C.,D b b &l
(4) A, B, CuwolL@w gf
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Topic:- GP_26NOV_SH1_A

1) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given questions, (l-import, E-export)

Year 2017 2018 2019 2020
Country { E ! E ! E ! E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
S 22 28 18 28 16 21 23 32
T 26 31 16 33 12 23 21 28
FRofl o taragde ufee a goa geal @ e A
farrmferf3ae sarvelt 3, 4 ool @ Siarer 5 Boil wr wa srna o Brafa (s s ) R sk 3 .
(| - amrrrer, E - forla)
ad 2017 2018 2019 2020
&of I E | E 1 E 1 E
P 25 30 24 32 | 28| 36 | 22 | 32
Q| 28 26 26 31 29 | 37 | 26 | 34
R| 24 32 28 25 | 32| 36 | 28| 34
S 22 28 18 28 | 16 | 21 | 23 | 32
T | 26 31 16 33 12| 23 | 21 28

Find out the difference between the average export and average import for the country P,

P 2or 4y e v Prda a i s @ O @ 3iae o1 gar asnse

[Question ID = 2081][Question Description = $2_qSNz_PG_GP22_Q01]
1. 8.25/8.25 [Option 1D = 8321]
2. 7.75/7.75 [Option 1D = 8322]
3, 8.50/8.50 [Option 1D = 8323]
4, 7.25/7.25 [Option ID = 8324]

Correct Answer :-
o §.25/8.25 [Option 1D = 8321]

2) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given, Study the table carefully
and answer the given questions. (I-import, E-export)

Year 2017 2018 2019 2020
Country / E ! E ! E ! E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
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S 22 28 18 28 16 21 23 32
T 26 31 16 33 12 23 21 28
Aol @ taroigde ufsu a gon gesll @ 3az dlise
forzaifertiaea zrevil 3i, 4 adl & Jiwer 5 ol I @d AN 4 forafa (A wuA H) T arm B :
(I - amrre, E - forwrda)
ad 2017 2018 2019 2020
&1 I E | E 1 E 1 E
P| 25 | 30 24 32 | 28| 36 | 22 | 32
Q| 28 | 26 26 31 | 29| 37 | 26 | 34
R | 24 | 32 28 25 | 32| 36 | 28 | 34
S| 22 | 28 18 28 | 16| 21 | 23| 32
T| 26 | 31 16 33 [ 12| 23 | 21| 28

Which country has the maximum percentage of profit increase from 2019 to 20207

{Profit = Export - Import)

2019 31 2020 & oot foow o1 o o 3 aftraw gfaera g a8 2

(e = forafa - atRIrET)

[Question ID = 2082][Question Description = $2_qSNz_PG_GP22_Q02]

N N PR o Y

Correct Answer :-
e P/P [Option ID = 8325]

P/P [Option ID = 8325]
Q/Q [Option ID = 8326]
R/R [Option ID = 8327]
$/5 [Option ID = 8328]

3) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given questions. (l-import, E-export)

Year 2017 2018 2019 2020
Country { E ! E ! E ! E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
S 22 28 18 28 16 21 23 32
T 26 31 16 33 12 23 21 28

anvil @ saegde afee a gon geal @ ame SN ¢

fBrraferd¥oe el 3, 4 aal @ Siaor 5 Boil @ war s o Brafa (s Fad #) Rear s 3 .

(I - strrre, E - forie)

aef 2017 2018 2019 2020

&o1 I E | E 1 E 1 E
P | 25 30 24 32 | 28| 36 | 22 | 32
Q| 28 26 26 31 29 | 37 | 26 | 34
R | 24 | 32 28 25 | 32| 36 | 28 | 34
S 22 28 18 28 | 16 | 21 | 23 | 32
T | 26 31 16 33 | 12| 23 | 21| 28

Which year has the maximum export?

fova ad & siffrrow Brda san 3?7

[Question ID = 2083][Question Description = $2_qSNz_PG_GP22_Q03]
| 1. 2017/2017 [Option ID = 8329]
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| 2. 2018/2018 [Option ID = 8330
3. 2019/2019 [Option ID = 8331]
4, 2020/2020 [Option ID = 8332]
Correct Answer :-

o 2017/2017 [Option ID = 8329]

4) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given questions. (l-import, E-export)

Year 2017 2018 2019 2020
Country 1 E ! E ! E ! E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
S 22 28 18 28 16 21 43 32
T 26 31 16 33 12 23 21 28

AR @ samgde ufee a gea gell © 32 S -
forgaiterfian vt 3, 4 aul @ Siaer 5 Seil @1 wa srna a rifa (Ris 3w #) sk 8 .
(| - armE, E - foraia)

2017 2018 2019 2020

I E | E | E | E
25 30 24 32 | 28| 36 | 22 | 32
28 26 26 31 29 | 37 | 26 | 34
24 | 32 28 25 | 32| 36 | 28 | 34
22 28 18 28 | 16 | 21 | 23 | 32
26 31 16 33 | 12| 23 | 21 | 28

—Im::l.ﬂ'ugﬂ\

Which year has the minimum average import?

Rowr ad & w=ga sfiera amara g2 & ?

[Question ID = 2084][Question Description = 52_qSNz_PG_GP22_Q04]
1. 2017/2017 [Option ID = 8333]
2. 2018/2018 [Option ID = 8334]
3. 2019/2019 [Option ID = 8335]
4. 2020/2020 [Option ID = 8336]

Correct Answer -
e 2017/2017 [Option 1D = 8333]

5) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given guestions. (l-import, E-export)

Year 2017 2018 2019 2020
Country { E / £ ! E ! E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
S 22 28 18 28 16 21 23 32
T 26 31 16 33 12 23 21 28

Fofl @ taragdes ufee a gon geal @ e diNw ¢
fBrrmferf3ae srvelt 3, 4 ool @ Siaoer 5 Boil o wor s o Brafa (s Fad #) R sk 3 .
(| - 3mmrrer, E - forala)

aef 2017 2018 2019 2020
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Sor | E | E | E | E
P | 25 30 24 32 | 28| 36 | 22 | 32
Q| 28 26 26 31 29 | 37 | 26 | 34
R | 24 | 32 28 25 | 32| 36 | 28 | 34
S | 22 28 18 28 | 16 | 21 | 23 | 32
T | 26 31 16 33 |12 | 23 | 21 | 28

Find out the ratio of export done by country S and T during 2017-2020.

Saiz T ger g 2017 - 2020 & Sizr fbu a1 orfa & aoqurd @1 udl oeisy
[Question ID = 2085][Question Description = 52_qSNz_PG_GP22_Q05]

. 108 109

115" 115

[Option ID = 8337]

,, M1 111

15115

[Option ID = 8338]

3. @fﬂ

M7 117

[Option ID = 8339]
4, ﬂfﬂ

M7 117

[Option ID = 8340]
Correct Answer:-

109 , 109

§ i

115" 115

[Option ID = 8337]
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Topic:- GP_26NOV_SH1_B

1) Which region of brain is involved in our ability to learn new information, particularly if it is verbal?

Aldvicm @I DicAl 8] o oo, foly ©2 aie ag onidem &, @ Af2emm Bl gardl disaar 3 Aiesjza el & ¢

[Question ID = 2086][Question Description = $2_qg5Nz_PG_GP22_Q06]
1. Cerebrum/gxfiaee (Im) [Option D = 8341]

2. Hippocampus/fEisaz [Option 1D = §342]

3. Pons/diwa [Option ID = 8343]

4. Thalamus/ &cem [Option 1D = 8344]

Correct Answer :-

e Cerebrum/gaiasr (33ga) [Option D = 8341]

2) mooKIT platform uses

AT (Tansiianddl) Crewnl @l BeattiRaa i A e Ga siadeg gEesr goirelt © gaer 3 Reofa R sk 8 7

[Question ID = 2087][Question Description = $2_qSNz_PG_GP22_Q07]
1. DRUPAL/Z! & 7t w wer [Option 1D = 8345]

2. JOOMLA /3 ail 3t v mer w [Option 1D = 8346)

3. SAKAl/wx wds 7 ang [Option ID = 8347]

4. Moodle/szm (T 30 41 st ey 5} [Option 1D = 8348]

Carrect Answer :-

& DRUPAL/SY an3 3yt w o [Option 1D = 8345]

, an open source content management system,

3) INFLIBNET Centre, which is an autonomous Inter-University Centre of the University Grants Commission, maintains

feraftEnerT snfem AIRIET 1 5 IRl so: kraliemeril @ sfiaeeie (a3 va v va sud 6 oo 3 €1) fowafcllaa d A Row @1 amgzemon

vy | -

[Question ID = 2088][Question Description = S2_qSNz_PG_GP22_Q08]
. Swayam Prabha/¥a=igen [Option 1D = 8349]

. e-Pathshala/% - uwenar [Option 1D = 8350]

1

2

3. e-Gyankosh/{% - smem [Option 1D = 8351]
4. Shodhganga/giumin [Option 1D = B352]
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Correct Answer :-
® Swayam Prabha/=wmm [Option 1D = 8349]

4) Given below are two statements

Statement I: According to Piaget, the ability to solve conservation problems depends on having an understanding of three
basic aspects of reasoning: identity, compensation, and reversibility.

Statement II: The stage of classification does not depend on a student’s ability to focus on a single characteristic of objects
in a set and group the objects according to that characteristic.

In light of the above statements, choose the most appropriate answer from the options given below

oI g el fow s &

@erel - | ; formal & e, FHzamT ARTARil ®) ga ool &l ABAdr dwe & disl I gad:ill & dier a3 iz oxd 2 ;| acre, ufer iz
fRroeleltvr

averat - || @ aeifaszor w1 aver Risefl v Je 3 oyl & vos RBifdrscar av Bfsga wet siiv o7 Rfdrcar @ serar awasi o agdlayon e
fepeft feenel &1 Aeewm uz foniz widt wwm 2

e werEl @ il & forsatafian fRscal 3 3 218 saz oot |
[Question ID = 2089][Question Description = $2_q5Nz_PG_GP22_Q09]

Both Statement | and Statement [l are correct/wem | #i | diei wdt & [Option ID = 8353]

Both Statement | and Statement [l are incorrect/wem | 3= || gisi =iewr £ [Option [0 = 8354]

Statement | is correct but Statement Il is incorrect/weEr | @8 &, g wem | srmr & [Option ID = 8355]
Statement | is incorrect but Staternent [l is correct/wem | sum &, ey oo || =8t & [Option ID = 8356]

e ld B

Correct Answer :-
& Both Statement | and Statement [l are correct/wem | 3z || S=i =dt & [Option ID = 8353]

%) According to Urie Bronfenbrenner's biclogical model of human development, microsystem constitutes

A. Immediate family
B. 5chool

C. Beliefs

D. Customs

E. Neighbourhood

Choose the correct answer from the options given below:

1 giohaiders @ wora Rreora 4 Sifter disa & serae geagond Bra daflta walt 8 -
A. forweaw afsars

B. franz agfy

C. sirren

D. Hfer - foarsr

E. gitmear

ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 2090][Question Description = 52_qSNz_PG_GP22_Q10]

A, Band C only/@mm A, B 3fiz C [Option D = 8357]
A, C and E only/dam A, C 3 E [Option |D = 8358)
A, B and E only/ds=a A, B afiz E [Option ID = 8359]
C, D and E only/&am C, D diw E [Option ID = 8360]

a2

Carrect Answer :-
® A B and C onlyfa@am A, B sfiz C [Option 1D = §357]

6) Which one of the following is an important characteristic of the researchers involved in qualitative study?

SPIRHE HEIAA A =1 onermaiii Bt fateian 3 A wia H o weraget fofdeear bt 2 ?

[Question ID = 2091][Question Description = 52_qSNz_PG_GP22_Q11]
Non-partisan/we feig [Option ID = 8361]

Reflexivity/gfifmem=rr [Option ID = 8362]

Transparency fapstsfn [Option 1D = 8363)

Enthusiasm/srme [Option 1D = 8364)

e it R
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Correct Answer :-
® Non-partisan/gg BFer [Option ID = 8361]

7) Some of the types of hypothesis are as follows:
A. Descriptive

B. Null

C. Confounding

D. Intervening

E. Explanatory (Causal}

Choose the correct answer from the options given below:

Qrrweds @© 50 gl Reneras ¥

A. aofeness

B. s

C. saafy wrw

D. seeraedt

E. w=is=ncar (3aw)

ofld R 1w Rraseal 3 31 78 e o awer S :

[Question ID = 2092][Question Description = $2_qSNz_PG_GP22_Q12]

A, B and C only/aam A, B sfiz C [Option ID = 8365]
B, C and D only/&aer B, C sfiz D [Option ID = 8366]
A, B and D only/@5aet A, B aiiz D [Option ID = 8367]
A, B and E only/@aa A, B iz E [Option 1D = 8368]

oW =

Correct Answer :-
o A B and C onlyfa@am A, B sfiz C [Option 1D = §365]

8) Given below are two statements

Statement I: Exploration is particularly useful when researchers lack a clear idea of the problems they will meet during the
study.

Statement Il: Through exploration, researchers develop concepts more clearly, establish priorities, develop operational
definitions, and improve the final research design.

In light of the above statements, choose the correct answer from the options given below

A S st Re stg 3 :
averet - | @ v offerasalsil i stezrrer o Sivrel smararchl Al @ g # Faw B o g 3iar § af sraeonr Ry g 371 adeh S E

averor - || & #1daon o5 sueas A oitereral sraenzonai @l iz after Fawe wa i Rl ow@ 8, greficoad Bedlya o 8, dfgarees afysmang
ferpRa e & itz siferr enter aif¥npea @l e &

IUTe wuel @ el #, sila v o8 fepeal 3 A A8 3 ! @ difens
[Question ID = 2093][Question Description = $2_q5Nz_PG_GP22_Q13]

1. Both Statement | and Statement |l are true/wem | diz |l S v & [Option (D = 8369]

2. Both Statement | and Statement [l are false/wem | & | Statt s & [Option (D = 8370]

3. Statement | is true but Statement Il is false/mem | =xa &, Mg wea 1 se & | [Option 1D = 8371)
4, Statement | is false but Statement |l is true/=e= | o= 8, fioeg o || g 8 [Option 1D = 8374]

Correct Answer :-
& Both Statement | and Statement |l are true/=em | 4z || Sel &g & [Option D = 8369]

9) Survey research is based on which of the following?

<t ey onter ereafeiian # A Row ue snenfsa & ?

[Question ID = 2094][Question Description = 52_qSNz_PG_GP22_Q14]
1. Constructivism/ =@ [Option ID = 8373]

2. Interpretivism/=rsamagm [Option 1D = 8374)]

3. Positivism/grasmrs [Option D = 8375]

4. Hermeneutics/ gl dsman [Option 1D = 8376]

Correct Answer ;-
e Constructivism/zommas [Option 1D = 8373]
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10) Which among the following are non-parametric statistics?
A. t-test

B. F-test

C. Spearman’s rank order correlation

D. Mann-Whitney-Wilcoxon test

E. Kendall coefficient of concordance

Choose the correct answer from the options given below:

forraifertianT 3f 3t otot - DiaT angraa Hifi=rbt & ?
A, & - gligmr

B. uw - uilamr

€. Rrerdter o f3-erfer ay 71g e

D. w1 - Recelt - Rrersraate aftaror

E. @©3a gswaa sporw
ol R s1e frweal A A T8 33 o1 aaa Hibe ©
[Question ID = 2095][Question Description = $2_qSNz_PG_GP22_Q15]

1. A, B and C only/dsaer A, B 3iz C [Option ID = 8377]
2. B, Cand D only/dswe B, € 3z D [Option ID = 8378]
3. B, D and E only/a@e B, D iz E [Option ID = 8379]
4. C, D and E only/de €, D 3 E [Option ID = 8380]

Correct Answer :-
o A, BandC only/@am A, B sfiz C [Option 1D = 8377]

11) messages have more or less same meaning for the audience,

Hoeer oitarsil O e grr: ooy & sl Wwa ¥ -

[Question ID = 2096][Question Description = $2_qSNz_PG_GP22_Q16]
1. Denotative/w=gaeies [Option D = 8381]

2. Complex/=im [Option ID = 8382]

3. Connctative/zomefss [Option ID = 8383]

4. Abstract/aept [Option ID = 8384]

Carrect Answer :-
® Denotative/asgaeis [Option D = 8381]

12) Which one of the following is an example of a technological barrier in communication?

HFUL # orgticiizan # 3 wiel AT 5 GIelPrbR JIale o 30182V & 7

[Question ID = 2097][Question Description = 52_qSNz_PG_GP22_Q17]
1. Physical locations of communicators/ et 5t iffrr amidefs [Option 1D = 8385]

2. Low bandwidth of internet/szee o fowar 3z - A== [Option D = 8386]

3. Personal attitude towards technology/vi=n=rf o5 o f=fera af¥rgfe (Option ID = 8387]
4, Complexity of ideas/Rrmzt &t witern [Option 10 = 8388]

Correct Answer :-

® Physical locations of communicators/sisnt & #iffer el [Option 1D = 8385]

13) The communication among persons working at different levels who have no direct reporting relationship is called:

fima Tl 2z orla ¥ cafteedl @ da AU B! =0 ol Al ¢ e goagl U oo @ dda o gl ?

[Question ID = 2098][Question Description = $2_q5Nz_PG_GP22_Q18]
Intrapersonal communication /am: e [Option ID = 8389]

Upward communication /st Fifmer [Option ID = 8390]

Horizontal communication/ et Figeo [Option ID = 8391]

Diagonal communication/ Rt Zitmor [Option ID = 8392]

P

Correct Answer :-
® |ntrapersonal communication/ams: fafrm [Option ID = 8389]

14) Marshall Mcluhan's name is associated with the assertion:
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ol Aagsa w1 onn BreofRda # A fvw abrsys & o dag § 7

[Question ID = 2099][Question Description = $2_qSNz_PG_GP22_Q19]

1. The message is the medium /a=tar sm=m 2 [Option 1D = 8393)

2. The medium is the message /st a9 £ [Option 1D = 8394)

3. The message determines the medium accurately/soSer mmes i okp - Jir i e & [Option (D = 8395]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In classroom communication, teachers should acknowledge and take into account students’ views.
Reason R: In a classroom, the probability of message reception can be enhanced by establishing a viewpoint.

In light of the above statements, choose the correct answer from the options given below

i) ot et B a0 & ©  wep afdnpera (Assertion A) @ u # 3iiz o1 33 wrwt (Reason R) S wa 4 .
sfirperm (A) : wen Aquor 3 Bigre! o faenfRi & sRewin o =fior @2 368 tam 3 Fen aifdy
oIl (R} : gn d zitcpin of Feniina o2 H¢9l SEvT Bl HUIRFT ©l 96RI Fl JAddl &

IUATe Bl @ ACE #, R By famed # 3 718 saz o wre Hifse |

[Question ID = 2100][Question Description = $2_q5Nz_PG_GP22_Q20]

Both A and R are true and R is the correct explanation of Af(A) diz (R) gt swa & diw (R), (A) & =t oo & [Option ID = 8397]

Both A and R are true but R is NOT the correct explanation of A/{A) sitz (R) =ieit owa £ o=y (R), (A) o ol mmeem st & [Option 1D = 8398]
Ais true but R is false/(A) = &, gemty (R) s £ [Option 1D = 8399]

A is false but R is true/(A) seww &, momg (R) wrwr £ [Option 1D = 8400]

oWk B

Correct Answer :-
& Both A and R are true and R is the correct explanation of A/(A) 37 (R) &l @ & 4z (R), (A) & =@t ;ams £ [Option 1D = 835%7]

16) How many terms are there in the series

168, 175, 182 2667

P o = e}

168, 175, 182, --—--- , 266
ojzac 3 e g & ?
[Question ID = 2101][Question Description = $2_qS5Nz_PG_GP22_Q21]

1. 13/13 [Option 1D = 8401]
2. 14/14 [Option ID = 8402]
3, 15/15 [Option ID = 8403]
4, 16/16 [Option 1D = 8404]

Correct Answer :-
a 13/13 [Option 1D = 8401]

17) Given below are two statements
Statement I: The compound interest on ¥280 for 18 months at 10 % per annum is ¥44.3.
Statement |l: At 5.6 % rate of simple interest, a certain sum will be doubled in 15 years

In light of the above statements, choose the correct answer from the options given below

ol <1 erer Ru a0 & ¢

e - | 1 280 sad uz 10% aiftfe 27 az 18 s & o omgly e 44.3 5w 2
werel - |l ¢ 5,6 gfaera &t wiremaw sarst A o s 7fd1 15 ad 3 gager 8 snesht
IWRYTe Dol @ Alcla #, s 16w s1e fawcul 3 3 w1l Iz Bl w6t Difare @
[Question ID = 2102][Question Description = $2_q5Nz_PG_GP22_Q22]

1. Both Statement | and Statement |l are true/wem | 3= || =it 3= £ [Option ID = 8405]

2. Both Statement | and Statement [l are false/wemr | 3 1| <5 s £ [Option 1D = 8406]

3. Statement [ is true but Statement Il is false/wemr | v £, freg wem 1l spw € [Option 10D = 8407]
4, Statement | is false but Statement Il is true/wem | spwa &, s wemr || s & [Option 1D = 8408]

Correct Answer :-
&« Both Statement | and Statement |l are true/mem | diz | si=t s & [Option 1D = 8405]
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18) The average of ten number is 7. If each number is multiplied by 11, then the average of the new set of numbers is:
10 Fizzanaii 1 sfiaa 7 & afe yrde dwen ot 11 3 spn fisen se, JY Facansii & @1 A ot i o= gsn?

[Question ID = 2103][Question Description = $2_q5Nz_PG_GP22_Q23]
82/82 [Option ID = 8409]
72/72 [Option ID = 8410]
78/78 [Option ID = 8411]
77/77 [Option 1D = 8412]

T

Correct Answer -
e 32/82 [Option 1D = 8409]

19} Which of the following fractions is the smallest?

forrmfertian 3f 21 Siot i firoor crgmar 2 7

[Question ID = 2104][Question Description = S2_qSNz_PG_GP22_Q24]
1. 65/80/65/80 [Option ID = 8413]
2. 11/16/11/16 [Option ID = 8414]
3. 5/8/5/8 [Option ID = 8415]
4. 29/40/29/40 [Option ID = 8416]

Carrect Answer :-
& &5/80/65/80 [Option ID = 8413]

20) A total of 324 coins of 20 paise and 25 paise make a sum of ¥71, The number of 20 paise coins is

20 3017 25 031 o @ 324 Rrapl @ g1 A 71 30 &1 afdn gendi @ 20 31 @ Rrawl &6 A & -

[Question ID = 2105][Question Description = 52_qSNz_PG_GP22_Q25]
1. 144/144 [Option ID = 8417]
2. 1247124 [Option D = 8418]
3. 2007200 [Option D = 8419]
4, 125/125 [Option ID = 8420]

Correct Answer :-
& 144/144 [Option |D = 8417]

21) Given below are two statements
Statement I: Truth and Falsehood are predicates of Arguments
Statement |l: Validity and Invalidity are predicates of Statements

In light of the above statements, choose the most appropriate answer from the options given below

ofkl 1 e e s & ;

e - | 1w A e o @ foedes €

wert - || deran iz s el @ forertes §

IRITh el & e 3, ofld Ry a1 faescal 3f 2 7192 IREP a3 o aud Hifsw |
[Question ID = 2106][Question Description = $2_qSNz_PG_GP22_Q26]

1. Both Statement | and Statement |l are correct/mam | 4z || 2t 78 & [Optien ID = 8421]

2. Both Statement | and Statement Il are incorrect/wem | & 1 Sisi =iwr £ [Option 1D = 8422]

3. Statement | is correct but Statement Il is incorrect/wem | 7 2, fveg e | s & [Option 1D = 8423]
4, Statement | is incorrect but Statement [l is correct/werm | s &, Roeg oo || 52t & [Option ID = 8424]

Correct Answer ;-
« Both Statement | and Statement [l are correct/wem | 3fiz || St =dt & [Option ID = 8421]

22) ldentify the fallacy committed in the argument:
Some birds are not beautiful creatures.
All dogs are beautiful creatures.

Therefore, no dogs are birds.

forgor 3 o g ot ugErsT Hifsm :
@ ugh goos oild ordt T
il oA g2 oita &
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3ie1: @i o asht adt E
[Question ID = 2107][Question Description = $2_qSNz_PG_GP22_Q27]

Fallacy of the Undistributed Middle Term/am=m &g 2w [Option ID = 8425]
Fallacy of the Illicit Process of Major Term/=es e gfegan 2 [Option ID = 8426]
Fallacy of the Illicit Process of Minor Term/arre st giezen 3w [Option 1D = 8427]

T e

23) If 'All men are mortal’ is given as True, then which of the following options can be validly inferred from it?
A. 'No men is mortal' is False

B. 'Some men are mortal' is True

C. 'Some men are not mortal’ is True

D. 'Some men are not mortal’ is False

E. 'Some men are mortal' is False

Choose the correct answer from the options given below:

afe "sit s oz § wea @ w4 3 yga &, Al opafeian A 3 Rva Kool w1 5311 de1 3u 31 366l TPIRN ST 35T 8 7
A. '©IF Ao avas widl § sRa @

B. s ag=r vz & e &

C. oo Aoz oltl 8 WA &

D. '@ ag= a7 o8l & 3RIcd &

E. oo g orar 3 s &

ol fou s1e faepedl 3 3 1l St @1 aws difone ©

[Question ID = 2108][Question Description = $2_qS5Nz_PG_GP22_Q28]

1. A, Band C only/gmm A, B 3fiz C [Option [D = 8429]

2. A, Band Donly/<mm A, B 3fiz D [Option D = 8430]

3. A, B, Cand D only/==mT A, B, C itz D [Option 1D = 8431]
4. B, C, D and E only/gaw B, C, D &iz E [Option ID = 8432]
Correct Answer :-

s A, Band C only/dae A, B afiz C [Option |D = 8429]

24) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Naivayikas, the fallacy of Savyabhicara occurs when the middle term leads to different opposite
conclusions.

Reason R: When the middle term is irregular, it is distributively not related to the major term.

In light of the above statements, choose the correct answer from the options given below

oA <) oewl Ru s & ;. wes afirsera (Assertion A) @ wu 3 3iiz g1z 35 @rer (Reason R) & »a &
atfirperat (A) : SNl @& JlgITe AR o 39 2l 2 5 & 3 firsor el forssd forent &

@11 (R) : =19 2q siforafdra e 3 aa A sy =a 3 wnear A Hdfta orft grar 8

IR el D e i, ofky Ru famedt & 3 w1 3wz & ave difem

[Question ID = 2109][Question Description = $2_qSNz_PG_GP22_Q29]

Both A and R are true and R is the correct explanation of A/ (A} 3z (R) 8iat o1 € 4tz (R), (A) & st =e=n & [Option 1D = 8433]

Both A and R are true but R is NOT the correct explanation of Af{A) itz (R) Sell sra & weexg (R), (A) o1 2@ = ol & [Option ID = 8434]
A is true but R is false/{A} 7r/a &, Teog (R) ame & [Option ID = 8435]

A is false but R is true/(A) s &, weog (R) awr & [Option ID = 8436]

oW R

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/ (4) sz (R) St 7 & iz (R), (A) &t =8t smme=r & [Option ID = 8433]

25) Match List | with List Il

List | List Il

Steps in Inference Statements

A, Thesis (Pratijia) l. Because of smoke

B. Reason (Hetu) ]II. Wherever there is smoke, there is fire, as in the Kitchen
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IC. Example (Udaharana) Jll. The mountain has fire |
D. Application {Upanaya}|w. The mountain also has smoke accompanied by fire, like the kitchen|
Choose the correct answer from the options given below:

et -1 ot et -1l 3 g Hif

et - et -1
(2ggietier 3 FAurer) (bera)
A. gt (=) I. gpd a5 aorver

B. &g Il. st St gait 2rar & amer Bkt 8, Sy =i &
C. serEar NI, oda gz 3men 3
D. JusrRr IV. oeda 3 (i a5 zmer, T2 &1 aze, aeT oft 3

sl fon oo Repedl & 3 316l 302 gione :
[Question ID = 2110][Question Description = 52_qSNz_PG_GP22_Q30]

A-NI,B-11,C-1,D- IV [Option ID = 8437)
A-Nl,B-1¥, C-1l, D-I[Option ID = 8438)
A-1,B-1,C- Nl D- IV [Option ID = 8439]
A-NI,B-1,C-Il,D- IV [Option ID = 8440]

o B

Carrect Answer :-
o A-NI,B-1,C-1,D-IY[Option ID = 8437]

26) The number of characters in 8 bit ASCIl code (American Standard Code for Information Interchange) is

8 fae ard ¢ oa Hi 309 g (aEiirel ¥ Wi B Bl cIdel) I A auil Dl HE=n AN

[Question ID = 2111][Question Description = 52_qSNz_PG_GP22_Q31]
1. 64/64 [Option 1D = 8441]

2. 1287128 [Option D = 8442]

3. 256/256 [Option D = 8443]

4, 512/512 [Option |D = 8444]

Correct Answer :-
® 64/64 [Option 1D = 8441]

27) The Post Office protocol is

BIChET oI & -

[Question ID = 2112][Question Description = $2_gS5Nz_PG_GP22_Q32]

Protocol used for transfer of files from one computer to another computer/ws FREs 3 X7 ©EIET o BEd & it 27 ygre s [Option ID = 8445]
Protocol used to handle email attachments /-3 sicore B Fm & g smrmz [Option 1D = 8446]

Protocel used when receiving emails from the email server/3-deT 2rdz 31 &9 H o= 20F e omm [Option D = 8447

Protocel used for sending emails/3-3eT 9 390 0er @Rz [Option 1D = 8448]

T

Correct Answer :-
e Protocol used for transfer of files from one computer to ancther computer/ s TreEs A gH TR I WS © 3FR0 2 e armEe [Option 1D = 8445]

28) Given below are two statements regarding the Router
Statement I: It enables data packets to be routed between different networks.
Statement |l: It works in the Data Link Layer,

In light of the above statements, choose the correct answer from the options given below

A D HAd A wusr Ruse g :

wepot - | 1 wE o (30 Hadl o) fisor Sicawst @ dia sl & asrrws 3

weret - || @ s on Ries e o ol wear &

Rl wuell @ aers A, ol Re oo Rroseal 3 31 w18 30 @1 armer Hife @
[Question ID = 2113][Question Description = $2_qSNz_PG_GP22_Q33]

Both Statement | and Statement || are true/=em@ | iz || Sl g & [Option (D = 8449]

Both Statement | and Statement [l are false/@am | @ || 3 asrg & [Option (D = 8450]
Statement | is true but Statement Il is false/®ue | 37 &, Prog oo || smea 2 [Option 1D = 8451]
Statement | is false but Statement Il is true/wuet | spra 8, foeg meat |l acx & [Option [0 = 8452]

oW =

Correct Answer :-
® Both Statement | and Statement || are true/rem | 4z || gt =1 € [Option |0 = 8449]
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29) Following are some statements regarding File Transfer Protocol (FTP). Choose the correct statements
A. It is used to access the world wide web (www)

B. It is used to download data from file servers

C. It is used for very small files

D. Files are transferred from one device to another

Choose the correct answer from the options given below:

GISA i orIrEnz (QEAY) & Hd 3 ofld o el fRw s | Tél Seel @ awa Hifaw ;
A, Tt i fasaeendt 9 (Secs] sec Socs]) @ ugd @ fore fmen ser 8

B. zrn1 gRi wizd 33 31 30 SIS ol @ o fasean sman 3

C. 7ot YR aafiis 8V wiedl @ e feen srar 3

D. wes U 3 $HY SUDT b Wil Aty &t =il &

ol 12w a1u taascal 3 3 7l Iz @1 @ DI ©

[Question ID = 2114][Question Description = $2_qSNz_PG_GP22_Q34]

1. Aand B only/@am A iz B [Option ID = 8453]
2. Aand C only/@aa A dite C [Option ID = 8454]
3. Band D only/wa= B diz D [Option 1D = 8455]
4, Band C only/o5ae B 3z C [Option 1D = 8456]

Correct Answer :-
® A and B only/@ae A & B [Option ID = 8453]

30) Match List | with List Il

List | List I

1/0 device Data transfer rate
A, Disk I, 50 bps

B. Mouse II. 1 Mbps

C. Laser printer|lll, 120 bps

D. Keyboard [IV. 100 Mbps
Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR iR

ot -| et -l
{amere / forsia sawszor) [(z71 (3%1) simeor 29)
A. R I. 50 & Wt wm

B. wsa II. 1 ow & ot o
C. aen iz . 120 & dt o
D. (5t - €id) wsht e IV. 100 ot i ot wa

oftdr e oo frwseal & A1 = saw gfee
[Question ID = 2115][Question Description = $2_qSNz_PG_GP22_Q35]

1. A-1,B-1l,C-ll,D- Y [Option ID = 8457]
2. A-1l,B-1,C- 1, D- IV [Option ID = 8458]
3. A-IV,B-1Il,C-1,D-1[Option ID = 8459]
4. A-IV,B-1l,C-1,D- 1l [Option ID = 8460]
Correct Answer ;-

o A-1,B-Il,C-Ill, D- IV [Option ID = 8457]

31) The number of Sustainable Development Goals is

Hemoiia o desl o Hien B

[Question ID = 2116][Question Description = $2_qSNz_PG_GP22_Q36]
1. 13/13 [Option ID = 8461]
2. 15/15 [Option 1D = 8462]
3. 17/17 [Option ID = 8463]
4. 19/19 [Option ID = 8464]

Carrect Answer :-
& 13/13 [Option 1D = 8461]

32) Given below are two statements



www.prepp.in .repp

Your Personal Exams Guide

Statement I: Small amount of atmospheric Nitrogen dioxide NO; is produced from polluting sources
Statement Il: Most of the atmospheric NO; is produced due to photochemical reactions in the atmosphere

In light of the above statements, choose the most appropriate answer from the options given below

oIl 5 werel féw 1w 3 ¢

werd - | goues Fil 3 arpiso ssasw s (NO2) ©r arca afsswr # sragas aian 8

weard - |l : aifrpior arpisc ARSI 313 ARAES O FUcd argdsd d Bl - IArfers YRy o wror g 3
IudTe wuel @ el #, sl By o8 [epeal # 3 A9 IuRpr 302 © 9ud DHifse .

[Question ID = 2117][Question Description = $2_q5Nz_PG_GP22_Q37]

1. Both Statement | and Statement [ are correct/wem | Az || Si=i a8t & [Option ID = 8465]

2. Both Statement | and Statement [l are incorrect/wsem | & 1 Siat et & [Option (D = 84646]

3. Statement | is correct but Statement Il is incorrect/wem | w2t &, v wem |l srmr & [Option 1D = 8467
4. Statement | is incorrect but Statement |l is correct/=am | #em 38, feeg oem || =8 £ [Option 1D = 8468]

Correct Answer :-
# Both Statement | and Statement [l are correct/wem | 3z || S =28 & [Option 1D = 8465]

33) Which of the following water borne diseases may be caused by virus, bacteria and protozoa?

forsoifeilaa A A wia A1 swrsifera 31 oy, stamy iz gelampi < oro 3 Foar & ?

[Question ID = 2118][Question Description = 52_qSNz_PG_GP22_Q38]
1. Cholera/gsn [Option D = 8469]

2. Hepatitis/=mgyT - ofter [Option D = 8470]

3. Typhoid/sng=m [Option ID = 8471]

4, Diarrhea/afmme [Option 1D = 8472]

Correct Answer ;-
e Cholera/3=m [Option |D = B469]

34) United Nations Environmental Program (UNEP) was the result of deliberations held during

o e, gaafazoiin wriaw (3 va £ i) forretfeafiaa & 31 foud farer gu fanr: faof o1 afvemar en ?

[Question ID = 2119][Question Description = $2_q5Nz_PG_GP22_Q39]

1. Human Environmental Conference at Stockholm in 1972/1972 ¥ =oamdm ¥ ardfom amm wafaon e [Option (D = 8473]
2. Earth Summit at Rio de Janeiro in 1992/1992 3 fill & - aiofssl # sivew gedi Rn mxicos [Option 1D = 8474]

3. Montreal Protocol 1987 /miRza g 1987 [Opticn 1D = 8475]

4. Kyoto Protocel 1997 /==l {igrsicT 1997 [Option 1D = §476]

Correct Answer :-
® Human Environmental Conference at Stockholm in 1972/1972 3 serdo 3 aERmA msm mafaro sre [Option (D = 8473

35) Which of the following state has maximum installed wind power as per MNRE's latest report?

oH oot a2 ¥ @ ardloraw gftidca @ saan BrotaRaa 3 & fow wsa & slfrraw gaa saf s gfersoiftea 3 7

[Question ID = 2120][Question Description = $2_qSNz_PG_GP22_Q40]
Andhra Pradesh /e goer [Option 10 = 8477]

Karnataka/amtcrs [Option 1D = 8478]

Tamil Nadu/riBmamg [Option 1D = 8479]

Maharashtra/#aree [Option ID = 8480]

bt B

Carrect Answer :-
o Andhra Pradesh/zniy gawr [Option |D = 8477]

36) Global Citizenship Education promotes

dfaer areianar oen BeelkiBaa d 3 raor sSatla o £ ?

[Question ID = 2121][Question Description = 52_qSNz_PG_GP22_Q41]
Commen international laws for global citizenship/&Faw aediem o P s s wep [Option 1D = 8481]
Issues pertaining to citizenship across countries involving VISA/ st Soi o dte i wfda seiee 3 Hdfe 58 [Option 1D = 8482]

International public relations/ sl == Fwas [Option ID = 8483)
More peaceful, tolerant, inclusive, secure and sustainable societies/aftrr snffmpl, FEmstr, memisht, FeisT a semvitr wema [Option (D = 8484]

L kad R

Correct Answer ;-
e« Common international laws for global citizenship/dfmr ety o e amn st aeg [Option 1D = 8481)
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37) CBCSis

HAtAMoad:

[Question ID = 2122][Question Description = $2_q5Nz_PG_GP22_Q42]
1. Criteria Based Choice System/wmies anuida were gonelt [Option 1D = 8485]

2. Choice Based Credit System/ o smnied = fzegomat [Option (D = 3486]

3. Criteria Based Creditable Scores/mmgs smenfr Fraseit e [Option 1D = §487]

4. Credit Based Choice Scores/@ Eeumnia e qiw [Option 1D = 8488]

Correct Answer :-
e (riteria Based Choice System/ s anmida o= yonedt [Option ID = 8485]

38) Given below are two statements
Statement I: Policy action and implementation plans require sound database systems at the regional level only.

Statement |l: The statistical system should ensure its impeccability with data architecture, security, quality, cleaning and
integration.

In light of the above statements, choose the most appropriate answer from the options given below

oIl 5 werel [Rw #1w 3 ¢

werel - | 1 oftfer Rl i Trieaas disrensil © fore ®ad Sl ¥ u? Jern sIcRA yonierl &l siagacodr 3kl 8
were - || @ Fnifdcahle quirchl @1 stex Hahell, JIE, SO, AWIE 9 Adda © Hael # Uil gicdiem gloilia medl aifze
ITe DuEl & Jcls #, ¢l 2 o1e [Aecul A 3 A9 FugTe Sz o oad b |

[Question ID = 2123][Question Description = $2_q5Nz_PG_GP22_Q43]

1. Both Statement | and 5tatement [l are correct/wem | & || 9ol w2t & [Option ID = 8489]

2. Both Statement | and Statement [l are incorrect/wsem | & 1 Siat e & [Option D = 8490]

3. Statement | is correct but Statement Il is incorrect/wem | =t &, fveg wem |l srmr & [Option 1D = 8491]
4, Statement | is incorrect but Statement [l is correct/wem | swrr &, fomg wem 1l =18t £ [Option 1D = 8492]

Correct Answer :-
# Both Statement | and Statement [l are correct /e | 3z || Sl =2t £ [Option 1D = 8489

39) In order to transform the regulatory system of Higher Education, the NEP proposes to set up HECI (Higher Education
Commission of India). Which of the following are verticals of HECI?

A. NHERC
B. NAS
C. HEGC
D. NCIVE
E. NAC

Choose the correct answer from the options given below:

Foa foran &) rawrr warer © waiawer @5 Rie, gar € &t grer va ¢ 3 snd (srz eadorsy walleia sife $f2=n) renfera w6t @1 grara R
RN & forafiiRan 3 A va £ A and @ wia A g9y (affwoa) & ?

A. ol wa ¥ a3l

B, st o

C. g $ it 2t

D.vazftamd &t §

E. wor g 3t

olil 6w a1z [amedl d 3 7l 3z @I wRs it ¢

[Question ID = 2124][Question Description = $2_qS5Nz_PG_GP22_Q44]

A, B and C only/@== A, B afiz C [Option [D = 8493]
B, C and E only/=@w= B, C iz E [Option ID = 8494]
A, Cand E only/@mm A, C 3z E [Option [D = 8495]
C, D and E only/zmm €, D af E [Option ID = 8496]

e it B

Correct Answer :-
o A, BandC only/<mm A, B 3z C [Option D = 8493]

40) Match List | with List Il
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List | List Il

A, Indian Institute of Advanced Study I. Noida, UP
B. Indian Biological S5ciences and Research Institutelll. Shimla, HP
C. Indian Institute of Soil Science lll. Bhopal, MP

D. Indian Institute of Sugarcane Research ‘IV. Lucknow, UP
Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR iR

Zreht -1 2ig]

A. el Joa sremae Arere |l sirest, 3,
B. sl Sifads fasmer a agianer dvarmet |II. Braret, 2y,
C. s et rsmor HzemoT 1. shorer, @y,
D. sl stoen argpRitinel HEemel |IV. olaEol®, 3.4,

sk o oo Repedl & 3 w16l 302 gene :
[Question ID = 2125][Question Description = $2_qS5Nz_PG_GP22_Q45]

1. A-I,B-1L,C-1N, D- IV [Option ID = 8497)
2. A-NLB-1V,C-1l, D-1[Option ID = 8498)
3. A-IM,B-NI,C-Il, D-1[Option ID = 8499]
4. A-1, B-1¥, C -1, D1l [Option ID = 8500]
Carrect Answer ;-

o A-I,B-1,C-Ill, D-Y [Option ID = 8497]

Topic:- GP_26NOV_SH1_C

1) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and outcomes that reflect their
shared purpose. Leadership involves influence. It occurs ameng people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an ocutcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a commeon vision, Thus, leadership involves the influence of people to bring about change toward
a desirable future

i Ru 310 sreror &) eaegds Ugd: grall & Jaz e

olefed ARIol U Il faerr 2, siie sleged &1 srqeson af¥afeda 2idt w2t sigea @1 aftz agEnici & dia & gura Hdea & wu 3 ufsnfte e
IR 3 Sl argel Arsn 32wl o gftfifa oo @a arafis afvada sz oftonm aea B Sigea 3 g affafea 3, ws et @ da 8lar 3, @ @
Hizoa sizrayyl uf¥ade aied 2 Jfiz A ufkadder aterail 3z sgeniirl & s 2o ! glalilha o &

g o1 e & fp clleil @ dia ot da miftae oift & aenf s ulnime o1 v wer ag it & & gua aglRemdt giar 2 a1z Rl &t @ suar @
forg amSor ar et w1 geter aiff wen B serfler @ glorard) Aigiires few digva & i A faeer 1 acafios A aen 3 F B S st
popemidrdl @ 1T o= el & el oiged @ Sledl feomai 3 Wpia sl & oz FieTooll d o1 3MERGHEL sielierse @l ki e &, wod
areftorzer oft araa) Seanfrmifsl BY Qi TR R T Ty & ADARK der arafyes A Aewayyf uftadea aed ¥ - Sgva ¥ uivador S
sirefra 1 8, T Ha A S Siar § a3 gaxwis wEen adl sad afafyr sftgfya afvada stoneit zrm Bréitra ol 8 &, aiftg so
g2odl o1 yfalifaa oz E Sl ol Jiiz sgeniirl & i AaEn aid 8 sard afalae uftadea oo 3 aftvns &1 o 4 glar 2 52 ofar 3
sraperelt Siarl el 8 oo aiffva siffre sterar Fven 3297 S 368 oo e grr abvona 6 i 9fva wem 3 Sgwa w1 v o wisvagul g #
el I T AAL Il W 36 - B ol @ fime gyiike ween  are: olgea 3 aiwoil skt Gt silz uivade ami 9 e el o1 gema aidafem

2

"Leadership studies are an emerging discipline”, means:
"Siicd MEARISl U Ipieil fiaar " oo ared € -

[Question ID = 2126][Question Description = $2_q5Nz_PG_GP22_Q46]

1. Leadership studies are an established field/arra e v zanfta = & [Option D = 8501]

2. lLeadership studies are a valid field of research/siqra sneret o @1 v e g & [Option 1D = 8502]

3. Leadership studies is an evolving domain of scholarship/agra skam Rigar © & 3demm g & [Option 1D = 8503]
4. Leadership studies is an elaborate field/aca e v Rzqa g 2 [Option 1D = 8504]
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Correct Answer :-
¢ |eadership studies are an established field/sa st gy zenfier R £ [Option 1D = 8501]

2) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and ocutcomes that reflect their
shared purpose. Leadership involves influence. It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors, The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a commeon vision. Thus, leadership involves the influence of people to bring about change toward
a desirable future

i) U 71v sEnol @] AT UGdm: Gl © Ja3 Se |

olgitd ERRIel b 3gml [ 2, il olgea ot sraerzon afvafela aidl 2l digea @I sfiz sigPEniicd & dla & gum &t & wu A it e
IR 3 Sl argel e 32wl o gftfifda oo ad arafie afvada sz oftonm wea B Sigea 3 g affafea 3, ws el @ d@a 8lar 3, @ @
FHiRoa wcragel ufyada o 2 sfiv A ufada i iz seenlRed < asn stedl @) giifkm o &

g @1 3 & R clieil & da ot e Giftomn adt §; awmf s ulsima o v a9 it 2 B guma aglRomrd &t 2 9z Rl 3t oo oaar @
fere am&or A ¢Aht T YRieT oidl ol & ardlesT & glorIe] AiTmiiies Hed oigod & ark 3 Rranevl ot it Az ol & 8 &5 oiar arael
srapenfaral @ fore aru wrar ¥ auly sigea wi Sien Reernsii 3 g Blen 3 arftrosas oroall # s siftreerh seflorrelt @) gy wad 8, aveq
atefiorzer oft aruet STaR oIl ®) Qi A & 3 sider 3 AR#RE clist arfie iz Asrayy ufkader ared & - siged 3 ufkades el
sirefra 1ar 8, e wa A S Sar § a3 v e sl sad afalyr sftrgfya ofvade stoneit zr Bréitra aft e &, aifg so
el w! yfafefema wea E =il olansi siie srgeniirl @ g AEn sl 3 word Al aiade oo 831 af e &6l [en & siar 8 B3 oar Az
3R Cloll @l &; e diftsa idwT areral FATAT 3293 il Jod U Aftrs S uftvma &t sz Yfea oz 2 sigea @ Uo 3o Agvayyl usr 8
il Dl T AL Wl B 56 - B am @ fore gynfem ween  ar: Sigea 3 gimoil sikiey &6t itz aivada am 9 R aisit o gera afdaten

F

What variables are used for defining leadership?
olgra ! ufrnite o © o foa @i @1 geeT e smen & ?

[Question ID = 2127][Question Description = $2_q5Nz_PG_GP22_Q47]
1. Power to affect relationship and desire for change in the true sense of the team/3iE:r @1 gnFa o o5 OikE o7 ome 78t sl # afrwda o1 ©rmr [Option
D = 8505]
2. Power to get things done quickly by influence /g g shemmgeia ol @am &t eiffs [Option ID = 8506]
3. Power to change and control/ufyrd= 4z B 4 gffr [Option 10 = 8507
4. Power to effect and desire for mandated change /g weat & sier o sffRisrT airda @5t wemn [Option 1D = 8508

Correct Answer -

® Power to affect relationship and desire for change in the true sense of the team/ =it ot ganfieT ol &t el 3z oo w2t sl & ofiwdsr 6t e [Option
ID = 8505]

3) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and outcomes that reflect their
shared purpose, Leadership involves influence, It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional, It does not use orders or threats to make somebody do something, The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share, Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a common vision. Thus, leadership involves the influence of people to bring about change toward
a desirable future
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aitdr e o1q srarier o) taragde yew: geEl @ e St |

olefrd IERRIl Wb Joiil Ra=r 8, 37 oigea &l amarvn ubrafela 2l e sigea @l il sipeniicd o it @ gym A6t @ wu A ubsnita Reen
3Kl & Sl a1del AT 32941 o Yifdafan ool arcl aralas ubada sz ufsna aea 2 sigea 3 gua afiatem 8, ag diell & «fa 2 &, d dier
FHiZ e ssragel af¥ader ansd ¥ siiv A afvader siansil sfiv sgenfcd & A 2ol o) gl wwa 3

gura @t 3ef 3 M5 el & dha o wde fftays ord) 3; aonfty sor ufysirar wr oo wer a5 M 3 By gura aglRoneh Al 3 a5 Roslt 3 oo e &
fore ancor ar eERbt @1 g 5i)df e  3EHEEPT O GRSt ARKphTr #od dgea @ an 3 Kt ©! acaftns swa gon o § R o s
AGRNIIRIT & 119 @RI A1 2 aenit oifod ©1 Sioll femall Ff gura 2 8 arfiresd: Faroall 3 3o aftrord areflorsell @) gniea @t 8, g
areftoreer o1t araat scafroiiyl o Pufem w1 3 51 dda d Afdafts ot arakes iz #eragel ubada et 2 - dgea #@ ufvekda @
MBI B 2, HIAleI %4 2 Sl Il & #A 331 Sean il ol sua JAfeafe abgfem ufvada stamnil grer Bfbr adt 8 8, aftg =
FZgal @Y gfafifde v ¥ SN starsl sl srgonfdral o e aren s § 9 sifalyes afader oo 9t afvensr @3 o o siar & Bra arar aiiz
MoIeIEt Cloil TG &, Uh difes eI el AR 3593 Al Jo¢ B AZRE 91 ufrmed &6t oz Ofya T & olgea @1 U 3ie Aeragul uer 8
el @l U ATl Favel @ 3¢ - B dlol @ i1 gt @3enl afd: olgied 3 aiselia sfae &t iz uftader arer & férg sl @1 g afdafenn
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What is the main theme of this passage?
T3 STENST W1 JT w2 o 5 7

[Question ID = 2128][Question Description = $2_qSNz_PG_GP22_Q48]
1. Explanation of leadership construct /sl a=n @ avfa [Option 1D = 8309]

2. Argument about leadership/ 3 =ikt mreef [Option 1D = 8510]

3. Models of leadership/stopsr o sl [Option D = 8511]

4, Pros and cons of leadership/aomr wr gsr - foger [Option ID = 8512]

Correct Answer :-
» FExplanation of leadership construct/amea zaan =1 adfa [Option ID = 8509]

4) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and outcomes that reflect their
shared purpose, Leadership involves influence, It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a commeon vision. Thus, leadership involves the influence of people to bring about change toward
a desirable future

aftar e o1q srerier o) taagde s gl @ Iz St |

slagva siezrior v Ippilt Rraw 8, siiv digea &t sraenzen af¥afia &t 30 sigea 99t siie sigpenfie @ Sta @ g FHder @ wa H aftsafie e
SRIl & Sil 3l AT 359l ®I Yfifdfon o arcl arvalies ubracdst sitz afvm aea 8 oigea # gpaa afllaion 8, g el & ok &l 8, d <ist
Hizea Azvagel uf¥ads ared 2 2tz A uftacder oremall siiz Acpnidcd & wren 3ol o1 gfakifaa o 2

g o1 21 2 o5 aell & dta o1 dde foftasr odY &; aenftr =71 ufnmer o v w3z ot 2 75 gy agllemdt dlar 2 a1z el 3 @ oo &
fere ancor ar eERbt @1 gRIET 51l e 3R O GRS ARKphRE #od olgea @ an 3 K ©1 srcaftns sa 9o &d & R otan amst
PR o 1610 o<l Dol  Tenitl oicfea o Sioil Teomail 3 Yia B & ARieode w100l 9 o Tl srefiorzedl @1 gIika @ &, Giog
seftoreer ot sraot scafirmbyal @ gufda o & v dAda # afdafa et avafie i ascagoel abada ot B - Sigra 9 ofvada o
P I 2, FIATG %4 2 Sl 8l & AN 331 Seaee il aidl sua Jfeafye alfm ufvada stamil gre1 Bibr adt g 8, afteg sa
32931 @ gferiditea @ Z =i oiansil iz scpnliei o dia 31 8k E o afaiys aftader e U3 oty &Y form 3 giar & 313 s afiz
3RIPIEAL Slofl T §; B aifdyel HfeeT srerar ATAT 389 Sl Jo¢ G 31 g uivona &t Ak Qfva @ 3 ol o1 W0 3o HAeraygul ugl 8
dIsil ®Y To AR 34 D 3¢ - BE am @ o gnfaa owen  ant: oigea o aiweia sfder 6 sitz ufiods o @ R el @ gra afdaterr

g

What should be the outcome of leadership actions?

dled @ it @ a1 ufm Ao @ty ?
[Question ID = 2129][Question Description = $2_qSNz_PG_GP22_Q49]
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Movement towards the vision of the leader/amr @6 graisian & Ren 3 aifafta [Option 1D = 8513]

Movement towards common vision of the leader and the followers/am iz srgeEnfdedt 1 anzn grafdfon B fen # srfedede [Option |D = 8514]
Movement towards the vision of the majority/agma &t gzaiska &1 en 31 skt [Option D = 8515]

Strengthening of the autherity of leaders/zmm & gfree @1 358 o [Option 1D = 8516]

oW

Correct Answer :-
* Movement towards the vision of the leader /3w @5t gafslar @5t Ren 3 sifafatEy [Option ID = 8513]

5) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and ocutcomes that reflect their
shared purpose. Leadership involves influence. It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a common vision, Thus, leadership involves the influence of people to bring about change toward
a desirable future

i) U 710 sEnol @] LAEIH® UGm: Pl © Ja3 ae |

olgitd AERRIel b 3wl [t 2, iz olgea ol sraarzom afyafela aidl 2l digea @1 sliz sioeniicd & dla & gum &t & wu A it e
IR 3 Sl argel s 32wl o gftfifa o @d arafie afsada sz oftonm aea B Sigea 3 i afiafta 3, ws et @ da 8lar 3, @ @
FHizou sAgragul uf¥ader wmad E sfiz A uf¥ade starail afiz agenieil & aEn oAl o1 gitdfaa oz &

g o1 el & s clieil @ dia ot da miftaer oift & qenf s ulnme o v we 3z it & & gua aglRemdt giar 2 oz Rl &t @ saar @
fere am&or A ¢Erbt o YRiel oidl ol & aArdlesT & glorIel AiTmiiie Ao oiged & ant 3 Rraevl ot it A3 JGel & 8 &5 oiar el
3popemidrdl @ 1T o= el & el oigea @ Sledl feomaii 3 pia sl & oz FeTooll d o1 3MERGHEL sielierse @l ki e &, wod
areftorzer oit arast scanlroiiyal ©F genfaa o= & s dda 3 Afdafer st arafies i serage! uiada aed 2 - dgea & ufvada oz
sirefra 1 8, Teiea ®a A S Slar § A 3 g e adl  sad afafyr sftgfya afvada stanait zrwr Bréftra ol e &, aifig s
32odl o glerfdfda e 2 =i olaail sl sceniicll & dia s Bld 3 sad afalae uftada oo b2 afvvms &6 o 3 siar 5121 olar a1z
PRI Cloll @l &; e diftsa idwT arerar Fr 3293 Sl Jod U Aftrs S ufoma &t sz Yfea oz 3 sigea @ U 3o Agvayyf usr 8
el I GO JAKAL Il W 36 - B ol @ fime gy ween  are: olgea 3 aiwoil ikt Gt silz aivade ami 9 e sl o1 gema aidafem

F

The concept of leadership discussed in this passage is
F 3TEi9l 3 migea @1 forer saemaon Bl aaf G s &, ag 2 -

[Question ID = 2130][Question Description = $2_q5Nz_PG_GP22_Q50]
1. Verticle-topdown/Foafiz - 0z Zrafi [Option 1D = 8517

2. Horizontal/zwzedie [Option (1D = 8518]

3. Individualistic/=aivmact [Option 1D = 8519]

4. Exceptional/sremesers [Option ID = 8520]

Correct Answer :-
e VYerticle-topdown/seafer - oz F & [Option 10 = 8517]



